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Part 8: Using do files

o
o

Robust do files

Example: fragile do files
wfx-step1-fragile.do
log using wfx-step1-fragile, replace text 
use wf-lfp, clear 
 

gen hask5 = (k5>0) & (k5<.) 
label var hask5 "Has children less than 5 yrs old?" 
 

gen hask618 = (k618>0) & (k618<.) 
label var hask618 "Has children between 6 and 18 yrs old?" 
 

log close 

wfex-step2-fragile.do
log using wfx-step2-fragile, replace 
logit lfp hask5 hask618 age wc hc lwg inc, nolog 
log close 

wfx-step1-fragile.do
wfx-step2-fragile.do

wfx-step1-fragile.do
wfx-step2-fragile.do
wfx-step1-fragile.do
. logit lfp hask5 hask618 age wc hc lwg inc, nolog 
no variables defined 
r(111); 

log using wfx-step2-fragile, replace 
use wf-lfp, clear 
logit lfp hask5 hask618 age wc hc lwg inc, nolog 
log close 

. logit lfp hask5 hask618 age wc hc lwg inc, nolog 
variable hask5 not found 
r(111); 

hask5 wf-lfp.dta
wfx-step1-fragile.do

wfex-step1V2.do: robust version 
 

log using wfx-step1V2-robust, replace 
 

use wf-lfp, clear 
 

gen hask5 = (k5>0) & (k5<.) 
label var hask5 "Has children less than 5 yrs old?" 
 

gen hask618 = (k618>0) & (k618<.) 
label var hask618 "Has children between 6 and 18 yrs old?" 
 

save wf-lfp2, replace 
 

log close 

wfx-step2V2.do: robust version 
 

log using wfx-step2V2-robust, replace 
 

use wf-lfp2, clear 
logit lfp hask5 hask618 age wc hc lwg inc, nolog 
 

log close 

Making do files robust

Exclude directory information 

 use mydata, clear 

 use d:\work\mydata, clear 



cd q:\TXRDC\census2000\PUMS 

use d:\data\binlfp3, clear 

Results must not depend on information “left” in memory 

o
o
o
o

Version control 

version

version 6

version 10
. version 10 
this is version 8.2 of Stata; it cannot run version 10.0 programs 
You can purchase the latest version of Stata by visiting 
http://www.stata.com. 
r(9); 

Include seeds for random numbers 

 set seed <integer>

Summary of robust do files

What you can’t control 

o

Legible do files
What makes a script file legible

Procedures for legible script files

o

o

Comments

Four types of for comments 

* hc & hc do not assume respondent graduated 

 
// select sample based on age and gender 
 

logit lfp wc hc education income edhs edcol /// no HS is exclude 
          i.race female 

 
/* 
  Analyses are preliminary based on 
  countries with complete data on 2005-01-17. 
*/  



Comment indicating location 
 
// #1 check data 
::: 
// #2 desc stats 
::: 
// #3 baseline models 
 

Obscure comments make things more confusing 
* check this. wrong variable? 
* see ekp's comment on model specification 

Worthless comments are distracting and waste time 
* create age squared 
gen agesq = age*age if age<=. 

Good names avoid the need for comments 

* gender: 1 is female

female

 

Alignment and indentation

    rename dev origin 
    rename major jobchoice 
    rename HE parented 
    rename interest goals 
    rename score testscore 
    rename sgbt sgstd 

    rename  dev       origin 
    rename  major     jobchoice 
    rename  HE        parented 
    rename  interest  goals 
    rename  score     testscore 
    rename  sgbt      sgstd 
    rename  restrict  restrictions  

    logit y var01 var02 var03 var04 var05 var06 /// 
    var07 var08 var09 var10 var11 var12 var13 var14 var15 

    logit y var01 var02 var03 var04 var05 var06 /// 
            var07 var08 var09 var10 var11 var12 /// 
            var13 var14 var15 

 

NEVER let lines wrap

listcoef mlogit

mlogit jobchoice income origin prestpar aptitude siblings fr...
listcoef 

Variable: income (sd=1.1324678) 
    Odds comparing    | 
    Alternative 1     | 
    to Alternative 2  |      b         z     P>|z|     e^b   e^bStdX 
    ------------------+--------------------------------------------- 
    2       -3        |   0.49569    0.825   0.409   1.6416   1.7530 
    2       -1        |   0.68435    2.483   0.013   1.9825   2.1706 
    3       -2        |  -0.49569   -0.825   0.409   0.6092   0.5704 
    3       -1        |   0.18866    0.377   0.706   1.2076   1.2382 
    1       -2        |  -0.68435   -2.483   0.013   0.5044   0.4607 
    1       -3        |  -0.18866   -0.377   0.706   0.8281   0.8076 
    ---------------------------------------------------------------- 

    Variable: female (sd=.50129175) 
 
    Odds comparing    | 
    Alternative 1     | 
    to Alternative 2  |      b         z     P>|z|     e^b   e^bStdX 
    ------------------+--------------------------------------------- 
    2       -1        |   1.25085    1.758   0.079   3.4933   1.8721 
    1       -2        |  -1.25085   -1.758   0.079   0.2863   0.5342 
    ---------------------------------------------------------------- 

listcoef.ado

   mlogit jobchoice income origin prestigepar aptitude siblings friends /// 
       scale1_std demands interestlvl jobgoal scale3 scale2_std motivation /// 
       parented city female, noconstant basecat(1) 



lim abb: limit abbreviations
Variable abbreviations 

age_at_1st_survey a
sum a 
::: 

a agesq
sum a 
a ambiguous abbreviation 
r(111); 

bmi1      bmi2      bmi3      bmi4

bmi1_1019 bmi2_2024 bmi3_2530 bmi4_31up

. svy: mean bmi1, over(black) 
test [bmi1]black = [bmi1]white 
equation [bmi1] not found 
r(303); 

test svy: mean

svy: mean
test

test[bmi1_1019]black = [bmi1_1019]white 

o
o

Command abbreviations 
summarize education

sum e

sum educ

Try to use at least 3 letters 

generate      gen 
label define    lab def 
label values    lab val 
label variable    lab var 
quietly      qui 
summarize     sum 
tabulate      tab 
display      di 

Legible log files
Mistake 1: truncate right
               |                                         Years of education 
    Occupation |         3          6          7          8          9         10          
    -----------+-----------------------------------------------------------------------... 
        Menial |         0          2          0          0          3          1          
               |      0.00       6.45       0.00       0.00       9.68       3.23       
    -----------+-----------------------------------------------------------------------... 
       BlueCol |         1          3          1          7          4          6          
               |      1.45       4.35       1.45      10.14       5.80       8.70        
    -----------+-----------------------------------------------------------------------... 
         Craft |         0          3          2          3          2          2          
               |      0.00       3.57       2.38       3.57       2.38       2.38        
    -----------+-----------------------------------------------------------------------... 
      WhiteCol |         0          0          0          1          0          1          
               |      0.00       0.00       0.00       2.44       0.00       2.44        
    -----------+-----------------------------------------------------------------------... 
          Prof |         0          0          1          1          0          0          
               |      0.00       0.00       0.89       0.89       0.00       0.00        
    -----------+-----------------------------------------------------------------------... 
         Total |         1          8          4         12          9         10          
               |      0.30       2.37       1.19       3.56       2.67       2.97        

Mistake 2: wrap
               |                                         Years of education 
    Occupation |         3          6          7          8          9         10 
         11         12         13 |     Total 
    -----------+------------------------------------------------------------------ 
    ------------------------------+---------- 
        Menial |         0          2          0          0          3          1 
          3         12          2 |        31 
               |      0.00       6.45       0.00       0.00       9.68       3.23 
       9.68      38.71       6.45 |    100.00 
    -----------+------------------------------------------------------------------ 
    ------------------------------+---------- 
       BlueCol |         1          3          1          7          4          6 
          5         26          7 |        69 
               |      1.45       4.35       1.45      10.14       5.80       8.70 
       7.25      37.68      10.14 |    100.00 
    -----------+------------------------------------------------------------------ 
    ------------------------------+---------- 
         Craft |         0          3          2          3          2          2 
          7         39          7 |        84 
               |      0.00       3.57       2.38       3.57       2.38       2.38 
       8.33      46.43       8.33 |    100.00 
    -----------+------------------------------------------------------------------ 
    ------------------------------+---------- 

Mistake 3: smcl printed as plain ascii
           {txt}{c |}                   Years of education 
Occupation {c |}         3          6          7          8          9 {c |}     
Total 
{hline 11}{c +}{hline 55}{c +}{hline 10} 
    Menial {c |}{res}         0          2          0          0          3 
{txt}{c |}{res}        31  
{txt}   BlueCol {c |}{res}         1          3          1          7          
4 {txt}{c |}{res}        69  
{txt}     Craft {c |}{res}         0          3          2          3          
2 {txt}{c |}{res}        84  
{txt}  WhiteCol {c |}{res}         0          0          0          1          
0 {txt}{c |}{res}        41  
{txt}      Prof {c |}{res}         0          0          1          1          
0 {txt}{c |}{res}       112  
{txt}{hline 11}{c +}{hline 55}{c +}{hline 10} 
     Total {c |}{res}         1          8          4         12          9 
{txt}{c |}{res}       337  
 
           {txt}{c |}                   Years of education 
Occupation {c |}        10         11         12         13         14 {c |}     
Total 
{hline 11}{c +}{hline 55}{c +}{hline 10} 
    Menial {c |}{res}         1          3         12          2          7 
{txt}{c |}{res}        31  
{txt}   BlueCol {c |}{res}         6          5         26          7          
3 {txt}{c |}{res}        69  



Solution: limit line size
log using <filename>.log, replace text 
set linesize 80 

Do you need to specify text? 

set logtype text, permanently 

text log

Is a longer linesize every appropriate? 

Templates for script files

Workflows for using templates
Copying templates 

wfx-template-dofile.do \Templates

wfx-template-dofile.do

Automation

What belongs in every do files Do file wfx template dofile.do (details follow)
 1:  capture log close 
 2:  log using name, replace text 
 3:  set linesize 80 
 4:  version 14.1 
 5:  clear all 
 6:  macro drop _all 
 7:  set scheme s1manual 
 8:   
 9:  // keyword: task description 
10:  local pgm name 
11:  local dte 2017-03-16 
12:  local who Scott Long 
13:  local tag "`pgm'.do `who' `dte'" 
14:   
15:  // #1 
16:   
17:  // #2 
18:   

19:  log close 
20:  exit 

Introduction to locals macros 

display
 

. display "Workflow, not slow. --Bruce Frasier" 
Workflow, not slow. --Bruce Frasier 

local dte 2017-03-16 

. di "date is: `dte'" 
date is: 2017-03-16 

Details on do-file template 

log using name, replace text 
set linesize 80 

replace

text

linesize

version 14.1 

clear all 
macro drop _all 



// CWH: explore missing 
local pgm cwh-data03-misschk 
local dte 2016-01-28 
local who Scott Long 
local tag "`pgm'.do `who' `dte'" 

// CWH: explore missing

pgm

tag

// #1  

log close 

exit 

log close

exit log close

exit

capture log close 

capture

Do files and the project diary Summary of do files

o

o

Part 9: Stata macros & returns

display

display
display

 

. display "Workflow, not slow. --Bruce Frasier" 
Workflow, not slow. --Bruce Frasier 

 

. display 2*3 
6 

display di
 

. di exp(cos(2^4)) 

.3837901 

display



Local macros

local rhs "var1 var2 var3 var4" 
local ncases = 198 

local moptions "msym(square circle) mcol(red blue) jitter(5)" 
 

. di "moptions: `moptions'" 
moptions: msym(square circle) mcol(red blue) jitter(5) 

Why is it called local?

o

A tag for provenance

local pgm wflec01 
local dte 2017-06-16 
local who Scott Long 
local tag "`pgm'.do `who' `dte'" 

. di "The tag is: `tag'" 
The tag is: wflec01.do Scott Long 2017-06-16 

Locals for tabulate options
tabulate

local opt_tab "cell miss chi2" 
tabulate wc hc,  `opt_tab' 
tabulate wc lfp, `opt_tab' 

tabulate wc hc,  cell miss chi2 
tabulate wc lfp, cell miss chi2 

local opt_tab "row miss chi2" 
tabulate wc hc, `opt_tab' 
tabulate wc lfp, `opt_tab' 

tabulate wc hc,  row miss chi2 
tabulate wc lfp, row miss chi2 

Locals for using the same variables

summarize lfp k5 k618 age wc hc lwg inc 
logit     lfp k5 k618 age wc hc lwg inc 

summarize lfp k5 k618 age wc lwg inc 
logit     lfp k5 k618 age wc lwg inc 

myvars
local myvars "lfp k5 k618 age wc hc lwg inc" 
summarize `myvars' 
logit     `myvars' 

local myvars "lfp k5 k618 age wc lwg inc " 
summarize `myvars' 
logit     `myvars' 

Locals for nested models

. local set1_age  "age agesq" 

. local set2_educ "wc hc" 

. local set3_kids "k5 k618" 

. local model1 "`set1_age'" 

. display "model1: `model1'" 
model1: age agesq 
 

. local model2 "`model1' `set2_educ'" 

. display "model2: `model2'" 
model2: age agesq wc hc 
 

. local model3 "`model2' `set3_kids'" 

. display "model3: `model3'" 
model3: age agesq wc hc k5 k618 

 



logit lfp `model1' 
logit lfp `model2' 
logit lfp `model3' 

local set1_age "age" 

   logit y black 

   logit y black age10 age10sq edhs edcollege edpost incdollars childsqrt 

   logit y black age10 age10sq edhs edcollege edpost incdollars /// 
       childsqrt bmi1 bmi3 bmi4 menoperi menopost mcs_12 pcs_12 

   logit y black age10 age10sq edhs edcollege edpost incdollars /// 
       childsqrt bmi1 bmi3 bmi4 menoperi menopost mcs_12 /// 
       pcs_12 sexactsqrt phys8_imp2 subj8_imp2 

   logit y black age10 age10sq edhs edcollege edpost incdollars /// 
       childsqrt bmi1 bmi3 bmi4 menoperi menopost mcs_12 /// 
       pcs_12 sexactsqrt phys8_imp2 subj8_imp2 selfattr partattr 

Creating long strings with macros

local demvars "fem black hisp age agesq edHS edc...... 

///
local myvars female black age agesq /// 
  edHS edcol edpost incdollars " 

///
local myvars female black /// demographics 
  age agesq               /// quadratic in age 
  edHS edcol edpost       /// education 
  incdollars 

/// incdollars

. local demvars "female black hispanic age agesq" 

. di "demvars: `demvars'" 
demvars: female black hispanic age agesq 

. local demvars "` demvars edHS edcol edpost" 

. di "demvars: `demvars'" 
demvars: female black hispanic age agesq edHS edcol 
>  edpost 

. local demvars "`demvars' incdollars childsqrt" 

. di "demvars:`demvars'" 
demvars: female black hispanic age agesq edHS edcol 
>  edpost incdollars childsqrt 

Using locals with graph
graph

  graph twoway /// 
    (connected pr_women articles, lpat(solid) lwid(medthick) /// 
        lcol(black) msym(i)) /// 
    (connected pr_men articles,   lpat(dash)  lwid(medthick) /// 
        lcol(black) msym(i)) /// 
    , ylab(0(.2)1., grid glwid(medium) glpat(dash)) /// 
      xlab(0(10)50) ytitle("Probability of tenure") /// 
      legend(pos(11) order(2 1) ring(0) cols(1)) 

  * Female line options 
  local opt_linF "lpat(solid) lwid(medthick) lcol(black) msym(i)" 
 
  * Male line options 
  local opt_linM "lpat(dash)  lwid(medthick) lcol(black) msym(i)" 
 
  * Options for y grid marks 
  local opt_ygrid "grid glwid(medium) glpat(dash)" 
 
  * Options for legend in upper left 
  local opt_legend "pos(11) order(2 1) ring(0) cols(1)" 

 

   graph twoway /// 
     (connected pr_women articles, `opt_linF')  /// 
     (connected pr_men   articles, `opt_linM')  /// 
     , xlab(0(10)50) ylab(0(.2)1., `opt_ygrid') /// 
       ytitle("Probability of tenure") legend(`opt_legend') 

   local opt_linF "lpat(solid) lwid(medthick) lcol(red)  msym(i)" 
   local opt_linM "lpat(dash)  lwid(medthick) lcol(blue) msym(i)" 



Global macros

global vars "x1 x2 x3"

$
display "$vars"

Globals can make do files fragile

macro drop _all

Globals when running parts of a do file

local vars "x1 x2 x3"
regress `vars’ 

regress
vars

regress `vars’ 

global vars "x1 x2 x3"
regress $vars 

Data on a network

macro drop _all

Directory locations using a global 

q:\TXRDC\census2000\PUMS 

use q:\TXRDC\census2000\PUMS\file9112, clear 

global path "q:\TXRDC\census2000\PUMS\"

* macro drop _all 

use ${path}file9112, clear

${ }

o $pathfile9112 pathfile9912
o $path file9112

  q:\Stat612\S612Resources\Datasets\ file9912 

Spaces in directory names 

use g:\Box Sync\Datasets\binlfp4, clear 

use "g:\Box Sync\Datasets\binlfp4", clear 

global path g:\Box Sync\Datasets\ 

use "${path}binlfp4", clear 

Returns

. sum age 
 

  Variable |    Obs        Mean    Std. Dev.       Min        Max 
-----------+----------------------------------------------------- 
       age |    753    42.53785    8.072574         30         60 
 

. return list 
 

scalars: 
                  r(N) =  753 
              r(sum_w) =  753 
               r(mean) =  42.53784860557769 
                <snip> 

. local agemean = r(mean) 
 

. di "Mean: `agemean'" 
Mean: 42.53784860557769  



ereturns from estimation commands
. logit lfp k5 k618 age wc hc lwg inc 
<snip> 
 
. ereturn list 
scalars: 
               e(rank) =  8 
                  e(N) =  753 
                 e(ic) =  4 
                  e(k) =  8 
               e(k_eq) =  1 
               e(k_dv) =  1 
          e(converged) =  1 
                 e(rc) =  0 
                 e(ll) =  -452.632957530274 
         e(k_eq_model) =  1 
               e(ll_0) =  -514.8732045671461 
               e(df_m) =  7 
               e(chi2) =  124.4804940737441 
                  e(p) =  8.92311460517e-24 
              e(N_cdf) =  0 
              e(N_cds) =  0 
               e(r2_p) =  .1208846109775658 

 

macros: 
            e(cmdline) : "logit lfp k5 k618 age wc hc lwg inc" 
                e(cmd) : "logit" 
          e(estat_cmd) : "logit_estat" 
            e(predict) : "logit_p" 
       e(marginsnotok) : "stdp DBeta DEvi <snip> Number Resid.." 
              e(title) : "Logistic regression" 
           e(chi2type) : "LR" 
                e(opt) : "moptimize" 
                e(vce) : "oim" 
               e(user) : "mopt__logit_d2()" 
          e(ml_method) : "d2" 
          e(technique) : "nr" 
              e(which) : "max" 
             e(depvar) : "lfp" 
         e(properties) : "b V" 
matrices: 
                  e(b) :  1 x 8 
                  e(V) :  8 x 8 
                e(mns) :  1 x 8 
              e(rules) :  1 x 4 
               e(ilog) :  1 x 20 
           e(gradient) :  1 x 8 
functions: 
             e(sample)    

Example: Centering a variable
age

. summarize age 
 

    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         age |       753    42.53785    8.072574         30         60 

summarize gen
. gen age_mean = age - 42.53785 
. summarize age_mean 

 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
    age_mean |       753   -1.49e-06    8.072574  -12.53785   17.46215 
 

o
 

-1.49e-06 = -000001.49e-06 = .00000149 
             ^^^^^^           ^^^^^^ 
             123456           123456 

. summarize age 
 

    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         age |       753    42.53785    8.072574         30         60 

 
. return list 
 
scalars: 
                  r(N) =  753 
              r(sum_w) =  753 
               r(mean) =  42.53784860557769 
                r(Var) =  65.16645121641095 
                 r(sd) =  8.072574014303674 
                r(min) =  30 
                r(max) =  60 
                r(sum) =  32031 
 
. gen age_meanV2 = age - r(mean) 
. summarize age_mean age_meanV2 

 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
    age_mean |       753   -1.49e-06    8.072574  -12.53785   17.46215 
  age_meanV2 |       753    6.29e-08    8.072574  -12.53785   17.46215 

 

. summarize age 
 

    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         age |       753    42.53785    8.072574         30         60 
 
. gen double age_meanV3 = age - r(mean) 
. label var  age_meanV3 "age - mean(age) using double precision" 
. summarize  age_mean age_meanV2 age_meanV3 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
    age_mean |       753   -1.49e-06    8.072574  -12.53785   17.46215 
  age_meanV2 |       753    6.29e-08    8.072574  -12.53785   17.46215 
  age_meanV3 |       753    3.14e-15    8.072574  -12.53785   17.46215 

 

Part 10: Datasets

Overview



Naming datasets

mydata01-source.dta

data01.do mydata02-labels.dta

data02.do mydata3-scales.dta 

Never name it final!

o
final14.dta final15.dta

final.dta lastversion.dta

alldonewithproject.dta

Metadata for datasets

o
o

label data
dte

   label data "cwh01.dta | CWH analysis file | `dte'" 
   save cwh01, replace 

local dte

   . use cwh01, clear 
   (cwh01.dta | CWH analysis file | 2006-12-07) 

   . label data "CWH analysis file | `dte'" 
   . save cwh01, replace 
   . use cwh01, clear 
   (CWH analysis file | 2006-12-07) 

Use note: for provenance

note: base01.dta | `tag' | base vars birthyr & cohort 

local tag

Example of notes in a dataset that took years to create 
. notes _dta 
 
_dta: 
1.  base01.dta | base01a.do jsl 2001-05-31 | base vars birthyr & cohort 
2.  base02.dta | base01b.do jsl 2001-06-29 | add attrition info 
    ::: 
    ::: 
    ::: 
38. ageism04.dta | age07b.do jsl 2006-06-27 | add analysis variables 
 

ageism04.dta

base01b.do

base01b.do base01bV2.do
base02V2.dta

ageism04V2.dta



Workflow for saving datasets Commands for saving data: details below
0 :   local tag " .do " 

1a:   keep if 
1b:   drop if 
1c:   keep in 
1d:   drop in 
2a:   keep 
2b:   drop 
3a:   aorder 
3b:   order

4a:   label data " .dta |  | " 
4b:   note: .dta | `tag' |  

5 :   quietly compress 

6 :   <diagnostics: 

7 :   datasignature 

8 :   save , version( ) replace

0: Program tag
tag

// wfclass: dataset example 
local pgm myprogram 
local dte 2017-06-17 
local who Scott Long 
local tag "`pgm'.do `who' `dte'" 

di "`tag'" 
. myprogram.do Scott Long 2017-06-17 

1: Select observations

keep if female==1 
keep if age>40 & !missing(age) 
keep if age>40 

in

* Deleting cases versus creating selection variables 

o

o

 

   gen SAMPfem = (female==1) 
   label var SAMPfem "Sample: females only" 
 

   gen SAMPmale = (female==0) 
   label var SAMPmale "Sample: males only" 
 

   label def Lsamp 0 0_Drop 1 1_InSample 
   label val SAMPfem Lsamp 
   label val SAMPmale Lsamp 

SAMP

 

* analysis of women 
use mydata, clear 
keep if SAMPfem // women only 
sum age inc 

 

* analysis of men 
use mydata, clear 
keep if SAMPmale // men only 
sum age inc 

use mydata, clear 
sum age inc if SAMPfem // women only 
sum age inc if SAMPmale // men only 

 



gen SAMPf2040urb = (female==1) /// 
  & (age>19 & age<41) & (urban==1) 
label var SAMPf2040urb "Female, 20-40, and urban?" 
label val SAMPf2040urb Lsamp 

logit lfp income age wage kid5 if SAMPf2040urb 

keep if SAMPf2040urb  

2: Select variables

o

* Selecting variables for the ISSP 2002 Russian data 

. use wf-isspru01, clear 
(Workflow data from Russian ISSP 2002 | 2008-04-02) 

 

. codebook, problems 
 
Potential problems in dataset   wf-isspru01.dta 
 
           potential problem   variables 
----------------------------------------------------------------------------- 
constant (or all missing) vars   v1 v3 v206 v207 v208 v209 v210 v211 v212 v213 
                               v214 v215 v216 v217 v218 v219 v220 v221 v222 
                               v223 v224 v225 v226 v227 v228 v229 v230 v231 
                               v233 v234 v235 v236 v237 v238 v248 v280 v287 
                               v290 v291 v337 v358 v359 v360 v362 
   incompletely labeled vars   v36 v37 v69 v71 v201 v204 v240 v243 v249 v250 
                               v361 
----------------------------------------------------------------------------- 

* assign constant variable names to a local 
local dropvars = r(cons) 
drop `dropvars' 

3: Rearrange variables

xxxx-yyyy

order, alphabetic // alphabetize all variables 
order  // place these at the front 

 

4: Internal documentation
label data

label data /// 
    "wf-isspru01.dta | WF Russian ISSP 2002 | `dte'" 

notes:

note: wf-isspru02.dta | `tag' | Revise sample 

notes _dta  

5: Compressing the file

compress



. use 04106-0001-data, clear 

. dir 04106-0001-data.dta 
83.4M 3/11/06 9:42 04106-0001-data.dta 

. compress 
v1 was double now int 
v2 was double now long 

v361 was double now long 
v362 was double now byte 

. save mydata1, replace 
file mydata1.dta saved 
. dir mydata1.dta 
11.3M 4/14/07 11:02 mydata1.dta 

quietly compress  

* 6: Diagnostics
codebook, problems 
o
o
o

Example of codebook, problems 
. use wf-diagnostics, clear 
(Workflow data to illustrate data diagnostics | 2008-04-05) 
. codebook, problems 
 
   Potential problems in dataset   wf-diagnostics.dta 
 
               potential problem   variables 
-------------------------------------------------------------------- 
  constant (or all missing) vars   v3 v256 v265 v274 v283 v294 v303  
     vars with nonexisting label   v7 
       incompletely labeled vars   v36 v37 
-------------------------------------------------------------------- 

. tab1 v3, miss 
 
-> tabulation of v3 
 
    Country |      Freq.     Percent        Cum. 
------------+----------------------------------- 
        RUS |        100      100.00      100.00 
------------+----------------------------------- 
      Total |        100      100.00 

. tab1 v256, miss 
 
-> tabulation of v256 
 
 R: Party affiliation: | 
              Bulgaria |      Freq.     Percent        Cum. 
-----------------------+----------------------------------- 
                   NAV |        100      100.00      100.00 
-----------------------+----------------------------------- 
                 Total |        100      100.00  

v7
. describe v7 
 
              storage  display     value 
variable name   type   format      label      variable label 
------------------------------------------------------------------------ 
v7              byte   %10.0g      labv7      What women really want is 
                                                home & kids 

labv7 v7 v7

. tab1 v37, miss 
 
 How many hrs spouse,partner | 
                 works on hh |      Freq.     Percent        Cum. 
-----------------------------+----------------------------------- 
              NAP,no partner |         50       50.00       50.00 
    1 hour or less than 1 hr |          1        1.00       51.00 
                       2 hrs |          1        1.00       52.00 
                             |          2        2.00       54.00 
                           7 |          6        6.00       60.00 
                           8 |          1        1.00       61.00 
                           9 |          1        1.00       62.00 

* 7: datasignature
datasignature set

o

datasignature 
753:8(54146):1899015902:1680634677 

o
o
o
o
o

Why would a signature fail?
wf-datasig02.dta

   . use wf-datasig02, clear 
   (Workflow dataset for illustrating datasignature | 2008-04-03) 
   . rename k5 kids5 
   . save wf-datasig02, replace 
   file wf-datasig02.dta saved 

   . use wf-datasig02, clear 
   (Workflow data for illustrating datasignature | 2008-04-03) 
   . datasignature confirm 
    data have changed since 03apr2008 09:58 
    r(9)  



Creating a signature 

. datasignature set 
753:8(54146):1899015902:1680634677  (data signature set) 
. save wf-datasig02, replace 

. use wf-datasig02, clear 
(WF dataset for illustrating datasignature | 2008-03-09) 
. datasignature confirm 

  (data unchanged since 09mar2008 12:40) 

. datasignature set 
  data signature already set -- specify option -reset- 
r(110); 

. datasignature set, reset 
753:9(85320):1280133433:4173826113 (data signature reset) 

8: Save the file

o
o replace
o version()

After a file is saved

* Combining datasets

Merging

Example of merging 

Terminology for merging 
merge

Match merging

_merge

. // #1 check signatures and load the master dataset 
 

. use wf-nls-flim05, clear 
(Workflow example with NLS FLIM variables \ 2008-04-02) 
 

. datasignature confirm 
  (data unchanged since 02apr2008 13:29) 
 

. use wf-nls-cntrl07, clear // leave it in memory 
(Workflow example with NLS control variables \ 2008-04-02) 
 

. datasignature confirm 
  (data unchanged since 02apr2008 13:29) 

 

wf-nls-cntrl07.dta
. // #2 merge flim and control and check _merge 
 

. merge 1:1 id using wf-nls-flim05 
 

    Result                           # of obs. 
    ----------------------------------------- 
    not matched                            21 
        from master                        21  (_merge==1) 
        from using                          0  (_merge==2) 
 
    matched                                79  (_merge==3) 
    ----------------------------------------- 
   . merge 1:1 id using wf-nls-flim05 

local dsn "wfx-data-merge01" 
drop _merge 
quietly compress 
label data "`dsn'.dta | WF merged NLS flim & control variables | 
`dte'" 
note: `dsn'.dta / `tag' / example of one to one merging 
datasignature set, reset 
save `dsn', replace 



One to one merging Combing unrelated datasets without matching 
wf-lfp.dta wf-acpub.dta

wf-lfp.dta

wf-acpub.dta
. use wf-lfp, clear 
(Workflow data on labor force participation | 2008-04-02) 
 
. summarize 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         lfp |       753    .5683931    .4956295          0          1 
          k5 |       753    .2377158     .523959          0          3 
        k618 |       753    1.353254    1.319874          0          8 
         age |       753    42.53785    8.072574         30         60 
          wc |       753    .2815405    .4500494          0          1 
          hc |       753    .3917663    .4884694          0          1 
         lwg |       753    1.097115    .5875564  -2.054124   3.218876 
         inc |       753    20.12897     11.6348  -.0290001         96 
-------------+-------------------------------------------------------- 

 

. use wf-acpub, clear 
(Workflow data on scientific productivity | 2008-04-04) 
 
. summarize 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
          id |       308    58654.49    2283.465      57001      62420 
       enrol |       278     5.92446     2.92346          3         25 
      female |       308    .3474026    .4769198          0          1 
         phd |       308    3.177987    1.012738          1       4.77 
         pub |       308    3.185065    3.908752          0         31 
 enrol_fixed |       278    5.564748    1.467253          3         14 

. use wf-lfp, clear 
(Workflow data on labor force participation \ 2008-04-02) 
 

. merge 1:1 _n using wf-acpub 
 
    Result                           # of obs. 
    ----------------------------------------- 
    not matched                           445 
        from master                       445  (_merge==1) 
        from using                          0  (_merge==2) 
 
    matched                               308  (_merge==3) 
    ----------------------------------------- 

. local dsn "wfx-data-merge02" 

. drop _merge 

. quietly compress 

. label data "`dsn'.dta | match merge by observation | `dte'" 

. note: `dsn'.dta / `tag' / example of match merging 

. datasignature set, reset 
  753:14(117189):528693629:719271906       (data signature reset) 
. save `dsn', replace 
(note: file wfx-data-merge02.dta not found) 
file wfx-data-merge02.dta saved 

   use binlfp2, clear 
   logit lfp k5 k618 age wc hc lwg inc 
   use couart2.dta, clear 
   nbreg art fem mar kid5 phd ment 

   use wfx-merge02.dta, clear 
   logit lfp k5 k618 age wc hc lwg inc 
   nbreg art fem mar kid5 phd ment 

Forgetting to match merge

. use wf-mergebio, clear 
(Workflow biographical data to illustrate merging \ 2008-04-05) 
 

. merge 1:1 _n using wf-mergebib  
 

    Result                           # of obs. 
    ----------------------------------------- 
    not matched                             0 
    matched                               408  (_merge==3) 
    ----------------------------------------- 

. codebook, compact 
 

Variable   Obs Unique      Mean  Min       Max  Label 
----------------------------------------------------------------------------- 
job        408     80  2.233431    1       4.8  Prestige of first job 
fem        408      2  .3897059    0         1  Gender: 1=female 0=male 
phd        408     89  3.200564    1       4.8  PhD prestige 
ment       408    123  45.47058    0  531.9999  Citations received by mentor 
id         408    408     204.5    1       408  ID number 
art        408     14  2.276961    0        18  # of articles published 
cit        408     87  21.71569    0       203  # of citations received 
----------------------------------------------------------------------------- 

. pwcorr job fem phd ment art cit 
 
             |      job      fem      phd     ment      art      cit 
-------------+------------------------------------------------------ 
         job |   1.0000 
         fem |  -0.1076   1.0000 
         phd |   0.3636  -0.0550   1.0000 
        ment |   0.2129  -0.0100   0.3253   1.0000 
         art |  -0.3471   0.0691  -0.9115  -0.2835   1.0000 
         cit |  -0.2314  -0.0278  -0.6607  -0.2046   0.7340   1.0000 

id
use wf-mergebio, clear 
merge 1:1 id using wf-mergebib, sort 



Useful data commands

One time datasets

demogcheck01.do

demogcheck01.dta

Temporary datasets
x-

demog05.dta flim06.dta

fl-mrg01.do x-fl-mrg01.dta.

fl-mrg02.do x-fl-mrg02.dta

fl-mrg03.do fl-paper01.dta

x-*.dta

Part 11: Variable names & labels

o
o

New content requires a new variable

var27 var27

var27

replace var27 = 100 if var27>100 // Wrong! 

gen var27trun = var27 
replace var27trun = 100 if var27>100 

var27

var27V2

Naming variables is hard

General guidelines

o

o
Systems for naming variables



Sequential naming systems

o
o

logit R0051400 R0000100 R0002203 R0081000 

logit R0054140 R1000100 R0002208 R0081000 

Source naming systems

q1 q2 q4c q4a q4b q4c

c1c15

logit q54 q4 q5 q15  

Mnemonic naming systems

logit lfp age educ kids 

logit R0051400 R0000100 R0002203 R0081000 

logit q17 q31 q19 q02 

o

o WWCHWRK R000134

Changing variable names

o

notes label var
 
rename R0013871 socialdist 
label var socialdist "R0013871 social dist from person with MI" 
note socialdist: renamed R0013871 / `tag’ 
 

Principles for selecting names
Anticipate looking for variables 
lookfor

raceblck racewhite raceasian
. lookfor race 
              storage  display     value 
variable name   type   format      label      variable label 
------------------------------------------------------------- 
racewhite       byte   %9.0g       Lyn        Is white? 
raceblack       byte   %9.0g       Lyn        Is black? 
raceasian       byte   %9.0g       Lyn        Is Asian? 

black white asian lookfor race

Alphabetizing names 
order, alpha

friendsd marrysd worksd 

sdfriend sdmarry sdwork

  raceblck  racewhite  raceasian

   blckrace  whiterace  asianrace

   black   white    Asian 

  edhs  edcol edphd

  hsed   coled phded 

  highschool  college   phd  

Simple, unambiguous names 

Q_23v

socialdistancescale2

How long should a name be? 



publication~9 |     Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
--------------+--------------------------------------------------------------- 
  phdprestige |  .2143538   .0552267     3.88   0.000     .1061115    .3225961 
workactivit~n | -.1746687   .2235618    -0.78   0.435    -.6128418    .2635044 
workactivit~g |  .1646048   .1266275     1.30   0.194    -.0835806    .4127902 
publication~1 |   .138701   .0181383     7.65   0.000     .1031506    .1742515 
        _cons |  .2482469   .2111628     1.18   0.240    -.1656246    .6621184 

          p9 |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
         phd |   .2143538   .0552267     3.88   0.000     .1061115    .3225961 
         wad |  -.1746687   .2235618    -0.78   0.435    -.6128418    .2635044 
        wtch |   .1646048   .1266275     1.30   0.194    -.0835806    .4127902 
          p1 |    .138701   .0181383     7.65   0.000     .1031506    .1742515 
       _cons |   .2482469   .2111628     1.18   0.240    -.1656246    .6621184 

      pubyr9 |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
     phdprst |   .2143538   .0552267     3.88   0.000     .1061115    .3225961 
    adminjob |  -.1746687   .2235618    -0.78   0.435    -.6128418    .2635044 
    teachjob |   .1646048   .1266275     1.30   0.194    -.0835806    .4127902 
      pubyr1 |    .138701   .0181383     7.65   0.000     .1031506    .1742515 
       _cons |   .2482469   .2111628     1.18   0.240    -.1656246    .6621184 

 

Older software 

Use clear & consistent abbreviations 

educlths  educationlths ed_lths
educhs educationhs  ed_hs

note _dta: ed=education in names / `tag’ 
note _dta: sd=social distance in names / `tag’ 

Use names that convey content 

  dist1P sdist2N sdist3N 

p1wages    p2wages   p3wages

wagesp1    wagesp2   wagesp3

wages_1    wages_2   wages_3 

wages_panel1  wages_panel2 wages_panel3

Be careful with capitalization 

o educ Educ EDUC

highschlB
edIhs edIgths edIcol
Lyesno
educM
sdworkN

sdkidsP
educS Seduc
marstatV2
Xtemp

Try names before you decide Planning names

Planning names for the SGC 



Variable labels

General principles

o
 label var checkvar "Scott's temp var; can be dropped" 

Listing variable labels

Commands to examine variable labels 
. use binlfp4,clear 
(binlfp4.dta | Mroz data on labor force participation of women | 2013-07-15) 
 
. local lhsvar lfp 
. local rhsvars k5 k618 age wc hc lwg inc 

. codebook `lhsvar' `rhsvars', compact 
 

Variable   Obs Unique      Mean        Min       Max  Label 
-------------------------------------------------------------------------------- 
lfp        753      2  .5683931          0         1  In paid labor force? 
k5         753      4  .2377158          0         3  # kids < 6 
k618       753      9  1.353254          0         8  # kids 6-18 
age        753     31  42.53785         30        60  Wife's age in years 
wc         753      2  .2815405          0         1  Wife attended college? 
hc         753      2  .3917663          0         1  Husband attended college? 
lwg        753    676  1.097115  -2.054124  3.218876  Log of wife's estimated... 
inc        753    621  20.12897  -.0290001        96  Family income excluding... 

. nmlab `lhsvar' `rhsvars' 
 
lfp   In paid labor force? 
k5    # kids < 6 
k618  # kids 6-18 
age   Wife's age in years 
wc    Wife attended college? 
hc    Husband attended college? 
lwg   Log of wife's estimated wages 
inc   Family income excluding wife's 
 
. sum   `lhsvar' `rhsvars' 
 
    Variable |        Obs        Mean    Std. Dev.       Min        Max 
-------------+--------------------------------------------------------- 
         lfp |        753    .5683931    .4956295          0          1 
          k5 |        753    .2377158     .523959          0          3 
        k618 |        753    1.353254    1.319874          0          8 
         age |        753    42.53785    8.072574         30         60 
          wc |        753    .2815405    .4500494          0          1 
-------------+--------------------------------------------------------- 
          hc |        753    .3917663    .4884694          0          1 
         lwg |        753    1.097115    .5875564  -2.054124   3.218876 
         inc |        753    20.12897     11.6348  -.0290001         96 

. tabulate tcfam, missing 
 

   Q43 How Impt: | 
  Turn to family | 
        for help |      Freq.     Percent        Cum. 
-----------------+----------------------------------- 
1Not at all Impt |          9        0.83        0.83 
               2 |          4        0.37        1.20 

tabulate
. tabulate tcfam, missing 
 
Question 43: How | 
 important is it | 
  to you to turn | 
   to the family | 
    for support? |      Freq.     Percent        Cum. 
-----------------+----------------------------------- 
1Not at all Impt |          9        0.83        0.83 
               2 |          4        0.37        1.20 

  

The Variables Window 



Syntax for label variable

label var artsqrt "Square root of # of articles" 

label var artsqrt 

Beware of truncation 

tc1fam     Q43 How important is it to turn to family for help 
tc1friend  Q44 How important is it to turn to friends for help 
tc1relig   Q45 How important is it to turn to a minister, priest, rabbi or  
    other religious 
tc1doc     Q46 How important is it to go to a general medical doctor for help 
tc1psy     Q47 How important is it to go to a psychiatrist for help 

. codebook tc1*, compact 
 
Variable    Obs Unique     Mean Min  Max  Label 
------------------------------------------------------------------------------ 
tc1doc     1074     10 8.714153   1   10  Q46 How important is it to go to ... 
tc1fam     1074     10 8.755121   1   10  Q43 How important is it to turn t... 
tc1friend  1073     10 7.799627   1   10  Q44 How important is it to turn t... 
tc1psy     1050     10 7.567619   1   10  Q47 How important is it to go to ... 
tc1relig   1039     10  5.66025   1   10  Q45 How important is it to turn t... 
------------------------------------------------------------------------------ 
 
 

. codebook tc2*, compact 
 
Variable    Obs Unique     Mean Min  Max  Label 
---------------------------------------------------------------------------- 
tc2doc     1074     10 8.714153   1   10  Q46 How Impt: Go to a gen med doc... 
tc2fam     1074     10 8.755121   1   10  Q43 How Impt: Turn to family for ... 
tc2friend  1073     10 7.799627   1   10  Q44 How Impt: Turn to friends for... 
tc2mhprof  1045     10  7.58756   1   10  Q48 How Impt: Go to a mental heal... 
tc2psy     1050     10 7.567619   1   10  Q47 How Impt: Go to a psych for Help 
tc2relig   1039     10  5.66025   1   10  Q45 How Impt: Turn to a religious... 
---------------------------------------------------------------------------- 

. codebook tc3*, compact 
 
Variable    Obs Unique      Mean  Min  Max  Label 
------------------------------------------------------------------------------ 
tc3doc     1074     10  8.714153    1   10  Q46 Med doctor help important 
tc3fam     1074     10  8.755121    1   10  Q43 Family help important 
tc3friend  1073     10  7.799627    1   10  Q44 Friends help important 
tc3mhprof  1045     10   7.58756    1   10  Q48 MH prof help important 
tc3psy     1050     10  7.567619    1   10  Q47 Psychiatric help important 
tc3relig   1039     10   5.66025    1   10  Q45 Relig leader help important 
------------------------------------------------------------------------------ 

 

Test labels before you post the data

Short and long labels with language

o
o
o

language

Temporary labels

esttab
 

. use wf-acjob 
(Workflow data on academic biochemists \ 2008-04-02) 
 
. nmlab job phd 
 
job  Prestige of 1st job on 1 to 5 scale 
phd  PhD prestige on 1 to 5 scale 
 
. label var job "Prestige of job" 
. label var phd "Prestige of PhD" 
. scatter job phd 

Variable notes
notes

. use wf-acpub, clear 
(Workflow data on scientific productivity \ 2008-04-04) 
 
. gen pubtrunc = pub 
. replace pubtrunc = 20 if pubtrunc>20 & !missing(pubtrunc) 
(3 real changes made) 
. label var pubtrunc "pub truncated at 20" 
 
. note pubtrunc: pubs>20 to 20 | `tag' 
. note pubtrunc 
 
pubtrunc: 
  1.  pubs>20 to 20 | wflec-var-commands.do Scott Long 2017-06-18 

 



. note pubtrunc: Earlier analyses (pubreg04a.do 2006-09-20) /// 
> showed that cases with a  large number of articles were /// 
> outliers. pubreg04b.do 2006-09-21 examined different /// 
> transformations of pub9 and found that truncation at 20 /// 
> was most effective at removing the outliers. / `tag' 
 
. note pubtrunc 
 
pubtrunc: 
  1.  pubs>20 to 20 | wflec-var-commands.do Scott Long 2017-06-18 
  2.  Earlier analyses (pubreg04a.do 2006-09-20) showed that cases  
      with a large number of articles were outliers. pubreg04b.do  
      2006-09-21 examined different transformations of pub9 and found 
      that truncation at 20 was most effective at removing the  
      outliers. / wflec-var-commands.do Scott Long 2017-06-18 

 

. rename R012213 socialdist 

. note socialdist: renamed R012213 / `tag’ 

Listing notes

codebook, notes

. codebook pubtrunc, notes 
 
------------------------------------------------------------------------------ 
pubtrunc                                                   pub truncated at 20 
------------------------------------------------------------------------------ 
 
                  type:  numeric (float) 
 
                 range:  [0,20]                       units:  1 
         unique values:  17                       missing .:  0/308 
 
                  mean:   3.10065 
              std. dev:    3.4148 
 
           percentiles:        10%       25%       50%       75%       90% 
                                 0         1         2       4.5         7 
 
pubtrunc: 
  1.  pubs>20 to 20 / wflec-var-commands.do Scott Long 2017-06-18 
  2.  Earlier analyses (pubreg04a.do 2006-09-20) showed that cases  
      with a large number of articles were outliers. pubreg04b.do  
      2006-09-21 examined different transformations of pub9 and found 
      that truncation at 20 was most effective at removing the  
      outliers. / wflec-var-commands.do Scott Long 2017-06-18 

 

Add citations and svy information
. notes _dta 
 
_dta: 
  1.  For svy estimation in Stata use: svyset secu [pweight=kwgtr], 
      strata(stratum) vce(linearized) singleunit(centered) 
  2.  Data extracted from (1) h06f2b.dta and (2) rndhrs_n.dta;  
      Health and Retirement Study public use dataset. Produced and  
      distributed by the Univ of Michigan with funding from the 
      National Institute on Aging (grant number NIA U01AG009740). 
      Ann Arbor, MI. (2) RAND HRS Data, Version N. Produced by the  
      RAND Center for the Study of Aging, with funding from the 
      National Institute on Aging and the Social Security  
      Administration. Santa Monica, CA (September 2014). 
  3.  groups-hrs3.dta \ HRS data for studying group differences \ 
      groups-hrs-supportV8.do Scott Long & Sarah Mustillo 2017-06-06 
      run on 6 Jun 2017 11:36 

Removing notes

help notes

Searching notes in Stata 11+

. notes search outliers 

pubtrunc: 
  2.  Earlier analyses (pubreg04a.do 2006-09-20) showed that cases 
      with a large number of articles were outliers. pubreg04b.do 
      2006-09-21 examined different transformations of pub9 and  
      found that truncation at 20 was most effective at removing the 
      outliers. / wflec-var-commands.do Scott Long 2017-06-18 

Value labels

. tabulate wc_v1 k5 
 
  Did wife | 
    attend |        # of children younger than 6 
  college? |         0          1          2          3 |     Total 
-----------+--------------------------------------------+---------- 
         0 |       444         85         12          0 |       541 
         1 |       162         33         14          3 |       212 
-----------+--------------------------------------------+---------- 
     Total |       606        118         26          3 |       753 



. tabulate wc_v2 k5 
 
  Did wife | 
    attend |        # of children younger than 6 
  college? |         0          1          2          3 |     Total 
-----------+--------------------------------------------+---------- 
         1 |       444         85         12          0 |       541 
         2 |       162         33         14          3 |       212 
-----------+--------------------------------------------+---------- 
     Total |       606        118         26          3 |       753 

. tabulate wc_v3 k5 
 
  Did wife | 
    attend |        # of children younger than 6 
  college? |         0          1          2          3 |     Total 
-----------+--------------------------------------------+---------- 
       0No |       444         85         12          0 |       541 
      1Yes |       162         33         14          3 |       212 
-----------+--------------------------------------------+---------- 
     Total |       606        118         26          3 |       753 

Example of why value labels are important 
mlogit (N=337): Factor change in the odds of occ  
 
Variable: 1.white (sd=0.276) 
------------------------------------------------------------------------------- 
                             |          b        z    P>|z|       e^b   e^bStdX 
-----------------------------+------------------------------------------------- 
BlueCol      vs Menial       |     1.2365    1.707    0.088     3.444     1.407 
Craft        vs Menial       |     0.4723    0.782    0.434     1.604     1.139 
Craft        vs BlueCol      |    -0.7642   -1.208    0.227     0.466     0.810 
WhiteCol     vs Menial       |     1.5714    1.741    0.082     4.813     1.544 
WhiteCol     vs BlueCol      |     0.3349    0.359    0.720     1.398     1.097 
WhiteCol     vs Craft        |     1.0990    1.343    0.179     3.001     1.355 
Prof         vs Menial       |     1.7743    2.350    0.019     5.896     1.633 
Prof         vs BlueCol      |     0.5378    0.673    0.501     1.712     1.160 
Prof         vs Craft        |     1.3020    2.011    0.044     3.677     1.433 
Prof         vs WhiteCol     |     0.2029    0.233    0.815     1.225     1.058 
 
Variable: 1.white (sd=0.276) 
------------------------------------------------------------------------------- 
                             |          b        z    P>|z|       e^b   e^bStdX 
-----------------------------+------------------------------------------------- 
2            vs 1            |     1.2365    1.707    0.088     3.444     1.407 
3            vs 1            |     0.4723    0.782    0.434     1.604     1.139 
3            vs 2            |    -0.7642   -1.208    0.227     0.466     0.810 
4            vs 1            |     1.5714    1.741    0.082     4.813     1.544 
4            vs 2            |     0.3349    0.359    0.720     1.398     1.097 
4            vs 3            |     1.0990    1.343    0.179     3.001     1.355 
5            vs 1            |     1.7743    2.350    0.019     5.896     1.633 
5            vs 2            |     0.5378    0.673    0.501     1.712     1.160 
5            vs 3            |     1.3020    2.011    0.044     3.677     1.433 
5            vs 4            |     0.2029    0.233    0.815     1.225     1.058 

Labeling values is a two step process
Step 1: Define labels 

label define Lyesno 1 Yes 0 No 

label define

1yes Yes yes

Step 2: Assign labels to variables 

wc Lyesno
label value wc Lyesno 

hc
label value hc Lyesno 

Why two steps?

 

  label define Lyesno 0 No 1 Yes 
  label define Lneg5  1 StDisagree 2 Disagree 3 Neutral 4 Agree 5 StAgree 
  label define Lpos5  1 StAgree 2 Agree 3 Neutral 4 Disagree 5 StDisagree 
 

 

  label define Lyesno 0 0_No 1 1_Yes, modify 
  label define Lneg5  1 1_SD 2 2_D 3 3_N 4 4_A 5 5_SA, modify 
  label define Lpos5  1 1_SA 2 2_A 3 3_N 4 4_D 5 5_SD, modify  
 

o label value

Planning value labels

Keep labels short 

. labelbook sd_v1 sd_v2 
---------------------------------------------------------------- 
value label sd_v1 
 
definition 
       1   Definitely Willing 
       2   Probably Willing 
       3   Probably Unwilling 
       4   Definitely Unwilling 

value label sd_v2 
 
definition 
       1   1Definite 
       2   2Probably 
       3   3ProbNot 
       4   4DefNot 

sdchild_v1 sd_v1
. tabulate female sdchild_v1 
 
      R is |      Q15 Would let X care for children 
   female? | Definitel  Probably   Probably   Definitel |     Total 
-----------+--------------------------------------------+---------- 
     0Male |        41         99        155        197 |       492 
   1Female |        73         98        156        215 |       542 

sd_v2
. tabulate female sdchild_v2 
 
      R is |      Q15 Would let X care for children 
   female? | 1Definite  2Probably   3ProbNot    4DefNot |     Total 
-----------+--------------------------------------------+---------- 
     0Male |        41         99        155        197 |       492 
   1Female |        73         98        156        215 |       542 
-----------+--------------------------------------------+---------- 
     Total |       114        197        311        412 |     1,034 



Include the category number 

 keep if sdchild==? 

nolabel
. tabulate sdchild_v1, nolabel 
 
  Q15 Would | 
 let X care | 
        for | 
   children |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          1 |        114       11.03       11.03 
          2 |        197       19.05       30.08 
          3 |        311       30.08       60.15 
          4 |        412       39.85      100.00 
------------+----------------------------------- 
      Total |      1,034      100.00 

label define defnot 1 1Definite 2 2Probably 3 3ProbNot 4 4DefNot 
 

Using numlabel 
numlabel

. label define defnot 1 Definite 2 Probably 3 ProbNot 4 DefNot 

. numlabel defnot, mask(#_) add 

. label val sdchild defnot 

. tabulate sdchild 
 
  Q15 Would | 
 let X care | 
   for kids |      Freq.     Percent        Cum. 
------------+----------------------------------- 
 1_Definite |        114       11.03       11.03 
 2_Probably |        197       19.05       30.08 
  3_ProbNot |        311       30.08       60.15 
   4_DefNot |        412       39.85      100.00 
------------+----------------------------------- 
      Total |      1,034      100.00 

Copy labels before changing them 
numlabel label copy

. label copy defnot defnotNum 

. numlabel defnotNum, mask(#_) add 

. label val sdchild defnotNum 

. tabulate sdchild 
 

  Q15 Would | 
 let X care | 
        for | 
   children |      Freq.     Percent        Cum. 
------------+----------------------------------- 
 1_Definite |        114       11.03       11.03 
 2_Probably |        197       19.05       30.08 
  3_ProbNot |        311       30.08       60.15 
   4_DefNot |        412       39.85      100.00 
------------+----------------------------------- 
      Total |      1,034      100.00  

Avoid special characters 

_

   label define yesno_v2 1 "1 yes" 0 "0 no" 

   label define yesno_v3 1 1_yes 0 0_no 

o

Danger of shared definitions
female lfp

   label define twocat 0 No 1 Yes 
   label value lfp female twocat  // I assign 2 vars at once 

   . tabulate female lfp 
 
         R is |   Paid labor force? 
      female? |        No        Yes |     Total 
   -----------+----------------------+---------- 
           No |       154        198 |       352 
          Yes |       171        230 |       401 
   -----------+----------------------+---------- 
        Total |       325        428 |       753 

female
 

   label define twocat 0 Male 1 Female, modify 

   . tabulate female lfp 
 
         R is |   Paid labor force? 
      female? |      Male     Female |     Total 
   -----------+----------------------+---------- 
         Male |       154        198 |       352 
       Female |       171        230 |       401 
   -----------+----------------------+---------- 
        Total |       325        428 |       753 

Workflow to keep track of value labels

L

o L



. label define   lfp 0 NoInLF 1 InLF 

. label value    lfp lfp 

. label define   Lcollege 1 College 0 None 

. label value wc Lcollege 

. label value hc Lcollege 
 
. tabulate wc lfp 
 
      Wife | 
  attended | In paid labor force? 
  college? |    NoInLF       InLF |     Total 
-----------+----------------------+---------- 
      None |       257        284 |       541  
   College |        68        144 |       212  
-----------+----------------------+---------- 
     Total |       325        428 |       753  
 
. tabulate hc lfp 
 
   Husband | 
  attended | In paid labor force? 
  college? |    NoInLF       InLF |     Total 
-----------+----------------------+---------- 
      None |       207        251 |       458  
   College |       118        177 |       295  
-----------+----------------------+---------- 
     Total |       325        428 |       753  

Checking value labels
describe nmlab ,vl

codebook, problems

labelbook
. labelbook Ltenpt 
 
value label Ltenpt 
------------------------------------------------------------------------------ 
      values                                    labels 
       range:  [1,10]                    string length:  [6,16] 
           N:  5                 unique at full length:  yes 
        gaps:  yes                 unique at length 12:  yes 
  missing .*:  3                           null string:  no 
                               leading/trailing blanks:  no 
  definition 
           1   1Not at all Impt 
          10   10Vry Impt 
          .a   .a_NAP 
          .c   .c_Dont know 
          .d   .d_No ansr, ref 
 
 variables:  tcfam tc1fam tc2fam tc3fam tc1friend tc2friend tc3friend tc1relig 
             tc2relig tc3relig tc1doc tc2doc tc3doc tc1psy tc2psy tc3psy 
             tc1mhprof tc2mhprof tc3mhprof  

Value labels for missing values

o
o
o

o
o
o

o

o

.

.d

.l

.n

.p

.r

.s

.t

Conclusions on variables

o
o

Part 12: Stata loops

o foreach
o forvalues



foreach

Example 1: displaying names
. foreach ivarnm in var1 var2 var3 { 
  2.         display "ivarnm is `ivarnm'" 
  3. } 
 
ivarnm is var1 
ivarnm is var2 
ivarnm is var3 

Example 2: displaying values
. foreach ivalue in 1 72 3 { 
  2.         display "ivalue is `ivalue'" 
  3. } 
 
ivalue is 1 
ivalue is 72 
ivalue is 3 

Example 3: series of summary commands

. use wf-lfp, clear 
(Workflow data on labor force participation \ 2008-04-02) 
 
. nmlab lfp k5 k618 age wc hc lwg inc 
 
lfp   In paid labor force? 
k5    # kids < 6 
k618  # kids 6-18 
age   Wife's age in years 
wc    Wife attended college? 
hc    Husband attended college? 
lwg   Log of wife's estimated wages 
inc   Family income excluding wife's 

sum lfp 
sum k5 
sum k618 
sum age 
sum wc 
sum hc 
sum lwg 
sum inc 

 

. foreach varnm in lfp k5 k618 age wc hc lwg inc { 
  2.         sum `varnm' 
  3. } 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         lfp |       753    .5683931    .4956295          0          1 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
          k5 |       753    .2377158     .523959          0          3 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
        k618 |       753    1.353254    1.319874          0          8 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         age |       753    42.53785    8.072574         30         60 
 
::: and so on ::: 

 

Example 4: echoing the commands

display
. foreach varnm in lfp k5 k618 age wc hc lwg inc { 
  2.     display _new ". sum `varnm'" 
  3.     sum `varnm' 
  4. } 
 
. sum lfp 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         lfp |       753    .5683931    .4956295          0          1 
 
. sum k5 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
          k5 |       753    .2377158     .523959          0          3 
 
::: and so on ::: 

 

Example 5: a series of binary logits

local rhsvars "yr89 male white age ed prst" 
local lhsvars "warm_lt2 warm_lt3 warm_lt4" 
foreach lhsvar in `lhsvars' { 
    di _new ". tab `lhsvar'" 
               tab `lhsvar' 
    di _new ". logit `lhsvar' `rhsvars'" 
               logit `lhsvar' `rhsvars' 
} 

. tab warm_lt2 
::: 
. logit warm_lt2 yr89 male white age ed prst 
::: 
. tab warm_lt3 
::: 

 



Example 6: constructing the variable name
local cutpt = 2
local lhs "warm_lt`cutpt'" 

warm_lt2

foreach cutp in 2 3 4 { 
 

    local lhsvar "warm_lt`cutpt'" 
    di _new ". tab   `lhsvar'" 

           tab   `lhsvar' 
    di _new ". logit `lhsvar' `rhsvars'" 
               logit `lhsvar' `rhsvars' 
} 

foreach cutpt in 2 3 4 5 6 7 8 9 { 

Example 7: create binary indicators
warm

 

gen warm_lt2 = warm<2 if !missing(warm) 
gen warm_lt3 = warm<3 if !missing(warm) 
gen warm_lt4 = warm<4 if !missing(warm) 
 

 

foreach cutpt in 2 3 4 { 
 

    gen warm_lt`cutpt' = warm<`cutpt' if !missing(warm) 
 

} 
 

`cutpt’
 

gen warm_lt2 = warm<2 if !missing(warm) 
 

`cutpt’
 

gen warm_lt3 = warm<3 if !missing(warm)   

Example 8: list variable name and labels
help local extended_fcn

warm
local varlabel : variable label warm 

varlabel
. display "label var for warm: `varlabel'" 
label var for warm: Mom can have warm relations w child 

. local varnm "warm" 

. di "`varnm'" _col(12) "`varlabel'" 
warm       Mom can have warm relations with child 

local varnames "warm yr89 male white age ed prst" 

foreach varnm in `varnames' { 
    local varlabel : variable label `varnm' 
    di "`varnm'" _col(12) "`varlabel'" 
} 

warm   Working mom can have warm relations w child? 
yr89   Survey year: 1=1989 0=1977 
male   Gender: 1=male 0=female 
white  Race: 1=white 0=not white 
age    Age in years 
ed     Years of education 
prst   Occupational prestige 

Example 8R1: adding a counter

local counter = 0 

local counter = `counter’ + 1 

local counter = 0 
foreach varnm in `lhsvars' `rhsvars' { 
    local counter = `counter' + 1 
    local varlabel : variable label `varnm' 
    di "`counter'. `varnm'" _col(12) "`varlabel'" 
} 

1. yr89    Survey year: 1=1989 0=1977 
2. male    Gender: 1=male 0=female 
3. white   Race: 1=white 0=not white 
<snip> 

local counter = 0 
foreach varnm in `lhsvars' `rhsvars' { 
    local ++counter 
    local varlabel : variable label `varnm' 
    di "`counter'. `varnm'" _col(12) "`varlabel'" 
} 



Example 9: add variable name to variable labels

. local varname  "warm" 

. local varlabel : variable label `varname' 

. label var `varname' "`varname': `varlabel'" 

. tab `varname' 
 
      warm: | 
Working mom | 
   can have | 
       warm | 
relations w | 
     child? |      Freq.     Percent        Cum. 
------------+----------------------------------- 
        1SD |        297       12.95       12.95 
         2D |        723       31.53       44.48 
         3A |        856       37.33       81.81 
        4SA |        417       18.19      100.00 
------------+----------------------------------- 
      Total |      2,293      100.00 

 

. local varnames "warm yr89 male white age ed prst" 
 
. foreach varname in `varnames' { 
  2.     local varlabel : variable label `varname' 
  3.     label var `varname' "`varname': `varlabel'" 
  4. } 
 
. nmlab `varnames' 
 
warm   warm: Working mom can have warm relations w child? 
yr89   yr89: Survey year: 1=1989 0=1977 
male   male: Gender: 1=male 0=female 
white  white: Race: 1=white 0=not white 
age    age: Age in years 
ed     ed: Years of education 
prst   prst: Occupational prestige 

o
  

Example 10: create interaction variables and labels

foreach varname in yr89 white age ed prst { 
    gen       maleX`varname' = male*`varname' 
    label var maleX`varname'  "male*`varname'" 
    note maleX`varname': `tag' 
} 

   . codebook maleX*, compact 
 
   Variable     Obs Unique      Mean  Min  Max  Label 
   ------------------------------------------------------------- 
   maleXyr89   2293      2  .1766245    0    1  male*yr89 
   maleXwhite  2293      2  .4147405    0    1  male*white 
   maleXage    2293     71  20.50807    0   89  male*age 
   maleXed     2293     21  5.735717    0   20  male*ed 
   maleXprst   2293     59  18.76625    0   82  male*prst 
   ------------------------------------------------------------- 

foreach varname in yr89 white age ed prst { 
    local varlabel : variable label `varname' 
    gen       maleX`varname' = male*`varname' 
    label var maleX`varname'  "male*`varlabel'" 
} 

. codebook maleX*, compact 
 

Variable     Obs Unique      Mean  Min  Max  Label 
------------------------------------------------------------------------------ 
maleXyr89   2293      2  .1766245    0    1  male*Survey year: 1=1989 0=1977 
maleXwhite  2293      2  .4147405    0    1  male*Race: 1=white 0=not white 
maleXage    2293     71  20.50807    0   89  male*Age in years 
maleXed     2293     21  5.735717    0   20  male*Years of education 
maleXprst   2293     59  18.76625    0   82  male*Occupational prestige 
------------------------------------------------------------------------------ 

Example 11: recoding variables

local sdvars "sdneighb sdsocial sdchild sdfriend sdwork sdmarry" 
 
foreach varname in `sdvars' { 
    gen       B`varname' = `varname' 
    label var B`varname'  "`varname': (1,2)=0 (3,4)=1" 
    replace   B`varname' = 0 if `varname'==1 | `varname'==2 
    replace   B`varname' = 1 if `varname'==3 | `varname'==4 
} 

foreach varname in incp1 incp2 incp3 incp4 incp5 { 
    gen       ln`varname' = ln(`varname'+.5) if `varname'<. 
    label var ln`varname' "Log(`varname'+.5)" 
} 

forvalues

margins

Syntax Meaning Example Generates
( ) 1(2)10
/ 1/10

to 1 4 to 15

   forvalues i = 40(5)80 { 

   forvalues i = 1(.1)100 { 



Example 12: listing 1 to 10
. forvalue ivalue = 1/10 { 
  2.         display "ivalue = `ivalue'" 
  3. } 
ivalue = 1 
ivalue = 2 
ivalue = 3 
ivalue = 4 
ivalue = 5 
ivalue = 6 
ivalue = 7 
ivalue = 8 
ivalue = 9 
ivalue = 10  

Example 12: compute 1st through 4th root of inc

use wf-lfp, clear 
gen       inc_root1 = inc^(1/1) 
label var inc_root1 "income^(1/1) 
gen       inc_root2 = inc^(1/2) 
label var inc_root2 "income^(1/2) 
::: 

 

 
. forvalues iroot = 1(1)5 { 
  2.    gen       inc_root`iroot' =   inc^(1/`iroot') 
  3.    label var inc_root`iroot' "income^(1/`iroot') 
  4.    note      inc_root`iroot': `tag'. 
  5.} 
(1 missing value generated) 
(1 missing value generated) 
(1 missing value generated) 
(1 missing value generated) 
 
. nmlab inc* 
 
inc        Family income excluding wife's 
inc_root1  income^(1/1) 
inc_root2  income^(1/2) 
::: 
 
. note inc* 
 
inc_root1: 
  1.  wflec-auto-loops.do Scott Long 2017-06-18 
inc_root2: 
  1.  wflec-auto-loops.do Scott Long 2017-06-18 
:::  

Debugging loops
display

   foreach varname in "sdneighb sdsocial sdchild sdfriend sdwork sdmarry" { 
       gen      B`varname' = `varname' 
       replace  B`varname' = 0 if `varname'==1 | `varname'==2 
       replace  B`varname' = 1 if `varname'==3 | `varname'==4 
   } 

   sdsocial already defined 
   r(110) 

sdsocial

o sdchild
o

display foreach
   di "==> varname is: |`varname'|" 

|
   ==> varname is: |sdneighb sdsocial sdchild sdfriend sdwork sdmarry| 
   sdsocial already defined 
   r(110) 

   local varname sdneighb 

foreach varname in /// 
sdneighb sdsocial sdchild sdfriend sdwork sdmarry { 

Using trace to debug loops
set trace on

-

. foreach varname in "sdneighb sdsocial sdchild sdfriend sdwork sdmarry" { 
  2.     gen B`varname' = `varname' 
  3.     replace  B`varname' = 0 if `varname'==1 | `varname'==2 
  4.     replace  B`varname' = 1 if `varname'==3 | `varname'==4 
  5. } 
- foreach varname in "sdneighb sdsocial sdchild sdfriend sdwork sdmarry" { 
- gen B`varname' = `varname' 
= gen Bsdneighb sdsocial sdchild sdfriend sdwork sdmarry = sdneighb sdsocial  
  > sdchild sdfriend sdwork sdmarry 
sdsocial already defined 
  replace B`varname' = 0 if `varname'==1 | `varname'==2 
  replace B`varname' = 1 if `varname'==3 | `varname'==4 
  } 
r(110) 

set trace off



Part 13: ExtendedWF for names &
labels

The data management challenge

o
o

Concept: dummy commands

   rename atdis   atdisease 
   rename atgenes atgenet 
   rename ctxfdoc clawdoc 
   rename ctxfhos clawhosp 
   rename ctxfmed clawpmed 

   rename atdis   atdis 
   rename atgenes atgenes 
   rename ctxfdoc ctxfdoc 
   rename ctxfhos ctfxhos 
   rename ctxfmed ctxfmed 

o

Planning the work
Step 1: Plan the changes 

wf-sgc-source.dta

tabulate

Step 2: Clone and rename 
wf-sgc01.dta

rename

wf-sgc02.dta

Step 3: Revise original variable labels 

label variable

original
default wf-sgc03.dta

Step 4: Revise value labels 

label define
label value

default
wf5-sgc04.dta

Step 5: Entire team looks at new names & labels 

Steps 1 - 5 are iterated till everyone is satisfied 

Step 1: Check the source data
Step 1a: List the current names and labels (wf5 sgc1a list.do)

. use wf-sgc-source, clear 
(Workflow data for SGC renaming example | 2008-04-03) 
. datasignature confirm 
  (data unchanged since 03apr2008 13:25) 
 

. notes _dta 
 

_dta: 
  1.  wf-sgc-source.dta | wf-sgc-support.do jsl 2008-04-03. 

0>. unab varlist : _all // local varlist contains all var names 
1>  local counter = 1 
2>  foreach varname in `varlist' { 
3>      local varlabel : variable label `varname' 
4>      local vallabel : value label `varname' 
5>      di "`counter'." _col(6)  "`varname'" _col(19) /// 
 >         "`vallabel'" _col(32) "`varlabel'" 
6>      local ++counter 
7>  } 



1.   id_iu                     Respondent Number 
2.   cntry_iu     cntry_iu     IU Country Number 
3.   vignum       vignum       Vignette 
4.   serious      serious      Q1 How serious would you consider Xs situa... 
5.   opfam        Ldummy       Q2_1 What X should do:Talk to family 
6.   opfriend     Ldummy       Q2_2 What X should do:Talk to friends 
7.   tospi        Ldummy       Q2_7 What X should do:Go to spiritual or t... 
8.   tonpm        Ldummy       Q2_8 What X should do:Take non-prescriptio... 

Number;Name;Value label;Variable labels 
1;id_iu;;Respondent Number 
2;cntry_iu;cntry_iu;IU Country Number 
3;vignum;vignum;Vignette 
4;serious;serious;Q1 How serious would you consider Xs situation to be? 

capture file close myfile 
file open myfile using wf5-sgc1a-list.txt, write replace 
 

putexcel

1>  file write myfile "Number;Name;Value label;Variable labels" _newline 
2>  local counter = 1 
3>  foreach varname in `varlist' { 
4>      local varlabel : variable label `varname' 
5>      local vallabel : value label `varname' 
6>      file write myfile "`counter';`varname';`vallabel';`varlabel'"  
 >              _newline 
7>      local ++counter 
8>  } 
9>  file close myfile 

wf5-sgc1a-list.xls

Step 1b: Try the current names and labels (wf5 sgc1b try.do)
. codebook, compact 
 
Variable   Obs Unique      Mean      Min      Max  Label 
------------------------------------------------------------------------------ 
id_iu      200    200   1772875  1100107  2601091  Respondent Number 
cntry_iu   200      8    17.495       11       26  IU Country Number 
vignum     200     12     6.305        1       12  Vignette 
serious    196      4  1.709184        1        4  Q1 How serious would you  ! 
opfam      199      2  1.693467        1        2  Q2_1 What X should do:Talk! 
opfriend   198      2  1.833333        1        2  Q2_2 What X should do:Talk! 

drop id_iu cntry_iu age 
unab varlist : _all 
foreach varname in `varlist' { 
    di  "`varname':" // since tab does not list the name 
    tabulate gender `varname', miss 
} 

vignum: 
 
           |                        Vignette 
    Gender | Depressiv  Depressiv  Depressiv  Depressiv  Schizophr |     Total 
-----------+-------------------------------------------------------+---------- 
      Male |        15         11          3          4          7 |        90 
    Female |         8         12          9          5         13 |       110 
-----------+-------------------------------------------------------+---------- 
     Total |        23         23         12          9         20 |       200 
::: 
 
sdlive: 
 
           |              Q13 To have X as a neighbor? 
    Gender | Definitel  Probably   Probably   Definitel         .c |     Total 
-----------+-------------------------------------------------------+---------- 
      Male |        39         32         10          4          4 |        90 
    Female |        45         51          9          5          0 |       110 
-----------+-------------------------------------------------------+---------- 
     Total |        84         83         19          9          4 |       200 
::: 

serious: 
 
           | Q1 How serious would you consider Xs situation to be? 
    Gender | Very seri  Moderatel  Not very   Not at al         .c |     Total 
-----------+-------------------------------------------------------+---------- 
      Male |        42         37          8          2          1 |        90 
    Female |        49         38         18          2          3 |       110 
-----------+-------------------------------------------------------+---------- 
     Total |        91         75         26          4          4 |       200 
 
trust: 
 
           | Q75 Would you say people can be trusted or need to be 
           |               careful dealing w/people? 
    Gender | Most peop  Need to b         .a         .c         .d |     Total 
-----------+-------------------------------------------------------+---------- 
      Male |        14         47         29          0          0 |        90 
    Female |        13         71         24          1          1 |       110 
-----------+-------------------------------------------------------+---------- 
     Total |        27        118         53          1          1 |       200 

Step 2: Create clones & rename
variables
Step 2a: Create clones (wf5 sgc2a clone.do)
 1>  local tag "wf5-sgc2a.do jsl 2008-04-09." 
 2>  use wf-sgc-source, clear 
 3>  datasignature confirm 
 4>  unab varlist : _all 
 5>  foreach varname in `varlist' { 
 6>      clonevar S`varname' = `varname' // S==source 
 7>      note S`varname': Source variable for `varname' | `tag' 
 8>      note `varname': Clone of source var S`varname' | `tag' 
 9>  } 
10>  note: wf-sgc01.dta | `tag' | create clones of source vars 
11>  label data "WF data for SGC renaming example | 2008-04-09" 
12>  datasignature set, reset 
13>  save wf-sgc01, replace 



Step 2b: creating rename statements (wf5 sgc2b rename dump.do)
  1> use wf-sgc01, clear 
  2> datasignature confirm 
  3> notes _dta 
 

 _dta: 
   1.  wf-sgc-source.dta | wf-sgc-support.do jsl 2008-04-03. 
   2.  wf-sgc01.dta | wf5-sgc2a.do jsl 2008-04-09 | create clones of  
          source variables 
 

  4> drop S* 
  5> aorder 
  6> unab varlist : _all 
  7> file open myfile using wf5-sgc2b-rename-dummy.doi, write replace 
  8> foreach varname in `varlist' { 
  9>    file write myfile "*rename  `varname'" _col(22) "`varname'" _newline 
 10> } 
 11> file close myfile 

write
  *rename  age         age 
  *rename  atdisease   atdisease 
  *rename  atgenes     atgenes 

wf5-sgc2b-rename.doi wf5-sgc2b-rename-
revised.doi

Step 2c: rename variables (wf5 sgc2c rename.do)
  1>  local tag "wf5-sgc2c.do jsl 2008-04-09." 
  2>  use wf-sgc01, clear 
  3>  datasignature confirm 
  4>  notes _dta 
  5>  include wf5-sgc2b-rename-revised.doi 

  *rename  age          age 
  *rename  atdisease    atdisease 
   rename  atgenes      atgenet 
  *rename  atraised     atraised 
  *rename  cause        cause 
  *rename  cntry_iu     cntry_iu 
   rename  ctxfdoc      clawdoc 
   rename  ctxfhos      clawhosp 
   rename  ctxfmed      clawpmed 
  

atgenes atgenet

ctxfdoc clawdoc

ctxfhos clawhosp

ctxfmed clawpmed

gvdisben gvdisab

gvhous gvhouse

opforg opforget

oppme oppremed

pubfright pubfrght

sdlive sdneighb

stuncom stuncmft

tonpm opnomed

tospi opspirit

  . note: wf-sgc02.dta | `tag' | rename source variables 
  . label data "Workflow data for SGC renaming example | 2008-04-09" 
  . datasignature set, reset 
    200:90(109624):981823927:1981917236       (data signature reset) 
  . save wf-sgc02, replace 
  file wf-sgc02.dta saved 

nmlab summarize codebook, compact

Step 3: Revising variable labels
Step 3a: creating variable labels (wf5 sgc3a varlab dump.do)

   use wf5-sgc02.dta 
   datasignature confirm 
   drop S* 
   aorder 
   unab varlist : _all 

file write
   file open myfile using wf5-sgc3a-varlab-dummy.doi, write replace 
   foreach varname in `varlist' { 
      local varlabel : variable label `varname' 
      file write myfile "label var  `varname' " _col(24) `""`varlabel'""' /// 
         _newline 
   } 
   file close myfile 

   label var  age         "Age" 
   label var  atdisease   "Q4 Xs situation is caused by: A brain disease o...  
   label var  atgenet     "Q7 Xs situation is caused by: A genetic or inhe... 
   label var  atraised    "Q5 Xs situation is caused by: the way X was raised" 
   label var  cause       "Q62 Is Xs situation caused by depression, asthma... 
   

wf5-sgc3a-varlab-dump.doi
wf5-sgc3a-varlab-revised.doi

Step 3b: revising variable labels (wf5 sgc3b varlab revise.do)

   local tag "wf5-sgc3b.do jsl 2008-04-09." 
   use wf-sgc02, clear 
   datasignature confirm 
   notes _dta 

original
   label language original, new copy 

default
   label language default 
   note: language original uses the original, unrevised /// 
       labels; language default uses revised labels | `tag' 
   include wf5-sgc3a-varlab-revised.doi 

   label var age         "Age in years" 
   label var atdiseas    "Q04 Cause is brain disorder" 
   label var atgenet     "Q07 Cause is genetic" 
   label var atraised    "Q05 Cause is way X was raised" 
   label var cause       "Q62 Xs situation caused by what?" 
   



   note: wf-sgc03.dta | `tag' | revised var labels for source  
     & default languages 
   label data "Workflow data for SGC renaming example | 2008-04-09" 
   datasignature set, reset 
   save wf-sgc03, replace 

   . nmlab tcfam tcfriend vignum 
 

   tcfam     Q43 Family help important? 
   tcfriend  Q44 Friends help important? 
   vignum    Vignette number 

   . label language original 
   . nmlab tcfam tcfriend vignum 
 

   tcfam     Q43 How Important: Turn to family for help 
   tcfriend  Q44 How Important: Turn to friends for help 
   vignum    Vignette 

Step 4: Revising value labels

Step 4a: List the current labels (wf5 sgc4a vallab check.do)

   use wf-sgc03, clear 
   datasignature confirm 
   notes _dta 

length( )
   labelbook, length(10) 

Ldist
------------------------------------------------------------------------------ 
value label Ldist 
------------------------------------------------------------------------------ 
 
      values                                    labels 
       range:  [1,4]                     string length:  [16,20] 
           N:  4                 unique at full length:  yes 
        gaps:  no                  unique at length 10:  no 
  missing .*:  0                           null string:  no 
                               leading/trailing blanks:  no 
                                    numeric -> numeric:  no 
  definition 
           1   Definitely Willing 
           2   Probably Willing 
           3   Probably Unwilling 
           4   Definitely Unwilling 
 
   in default attached to sdneighb sdsocial sdchild sdfriend sdwork sdmarry 
                       Ssdlive Ssdsocial Ssdchild Ssdfriend Ssdwork Ssdmarry 
 
   in original attached to sdneighb sdsocial sdchild sdfriend sdwork sdmarry 
                       Ssdlive Ssdsocial Ssdchild Ssdfriend Ssdwork Ssdmarry 

Step 4b: Dummy label def commands (wf5 sgc4b vallab dump.do):

   use wf-sgc03, clear 
   datasignature confirm 
   notes _dta 
   drop S* 

   quietly labelbook 
   local valdeflist = r(names) 

Approach 1: Create label define statements with label save 
   label save `valdeflist' using /// 
       wf5-sgc4b-vallab-labelsave-dummy.doi, replace 

label save
   label define Ldist 1 `"Definitely Willing"', modify 
   label define Ldist 2 `"Probably Willing"', modify 
   label define Ldist 3 `"Probably Unwilling"', modify 
   label define Ldist 4 `"Definitely Unwilling"', modify 

NLdist Ldist

   label define NLdist 1 `"1DefWillng"', modify 
   label define NLdist 2 `"2ProbWill"', modify 
   label define NLdist 3 `"3ProbUnwil"', modify 
   label define NLdist 4 `"4DefUnwill"', modify 

Approach 2: create customized label define statements 

   use wf-sgc03, clear 
   drop S* 
   aorder 
   unab varlist : _all 
   file open myfile using wf5-sgc4b-vallab-labval-dummy.doi, write replace 
   foreach varname in `varlist' { 
       local lblnm : value label `varname' 
       if "`lblnm'"!="" { 
           file write myfile /// 
               "label value  `varname'" _col(27) "N`lblnm'" _newline 
       } 
   } 
   file close myfile 

   label value  age          Nage 
   label value  atdisease    NLlikely 
   label value  atgenet      NLlikely 
   label value  atraised     NLlikely 
   label value  cause        Ncause 
   label value  clawdoc      NLrespons 
   label value  clawhosp     NLrespons 
   



Step 4c: Revise labels (wf5 sgc4c vallab revise.do)
wf5-sgc4b-vallab-labdef-dummy.doi wf5-sgc4b-

vallab-labdef-revised.doi
//                            1234567890 
label define NLdist     1    "1Definite", modify 
label define NLdist     2    "2Probably", modify 
label define NLdist     3    "3ProbNot", modify 
label define NLdist     4    "4DefNot", modify 

wf5-sgc4b-vallab-labval-dummy.doi wf5-sgc4b-
vallab-labval-revised.doi
label value  age          Nage 
label value  atdiseas     NLlikely 
label value  atgenet      NLlikely 
label value  atraised     NLlikely 
label value  cause        Ncause 
label value  clawdoc      NLrespons 

. use wf-sgc03, clear 
(Workflow data for SGC renaming example | 2008-04-09) 
. datasignature confirm 
  (data unchanged since 09apr2008 17:59) 

include wf5-sgc4b-vallab-labdef-revised.doi 
include wf5-sgc4b-vallab-labval-revised.doi 

save x-temp, replace 
drop S* 
quietly labelbook 
local valdeflist = r(names) 
use x-temp, clear 

foreach valdef in `valdeflist' { 
    label define `valdef' .a  `".a_NAP"'      , modify 
    label define `valdef' .b  `".b_Refuse"'   , modify 
    label define `valdef' .c  `".c_DK"'       , modify 
    label define `valdef' .d  `".d_NA_ref"'   , modify 
    label define `valdef' .e  `".e_DK_var"'   , modify 
}  

note: wf-sgc04.dta | `tag' | revise val labels with source & default  
>  languages label data "Workflow data for SGC renaming example" 
datasignature set, reset 
save wf-sgc04, replace 

. tabulate marital, missing 
 
    Marital | 
     status |      Freq.     Percent        Cum. 
------------+----------------------------------- 
   1Married |        112       56.00       56.00 
   2Widowed |         16        8.00       64.00 
  3Divorced |         10        5.00       69.00 
  4Separatd |          6        3.00       72.00 
   5Cohabit |         21       10.50       82.50 
    6Single |         34       17.00       99.50 
  .d_NA_ref |          1        0.50      100.00 
------------+----------------------------------- 
      Total |        200      100.00 

  

. label language original 

. tabulate marital, missing 
 
               Marital status |      Freq.     Percent        Cum. 
------------------------------+----------------------------------- 
                      Married |        112       56.00       56.00 
                      Widowed |         16        8.00       64.00 
                     Divorced |         10        5.00       69.00 
       Separated, but married |          6        3.00       72.00 
Living as a couple/Cohabiting |         21       10.50       82.50 
        Single, never married |         34       17.00       99.50 
                           .d |          1        0.50      100.00 
------------------------------+----------------------------------- 
                        Total |        200      100.00 

Step 5: Check new names and labels

o

Summary

o

Part 14: Debugging do files



Simple errors and how to fix them
Log file is open

. log using example1, replace 
log file already open 
r(604); 

capture log close

Log file already exists

log using example2, text 

file e:\workflow\work\example2.log already exists 
r(602); 

log using example2, text replace  

Incorrect command name

loget lfp k5 k618 age wc hc lwg inc 
unrecognized command:  loget 
r(199) 

r(199)
[P] error . . . . . . . . . . . . . . . . . . .  Return code 199 
unrecognized command; 
Stata failed to recognize command, program, or ado-file name, 
probably because of a typographical or abbreviation error. 

. tabl lfp k5 
unrecognized command:  tabl 
r(199) 

Incorrect variable name

. logit lfp kO5 k618 age wc hc lwg inc 
variable kO5 not found 
r(111) 

k05 kO5

If you think the name is right and you still get errors
describe k* k

Incorrect option

. logit lfp k5 k618 age wc hc lwg inc, logoff 
option logoff not allowed 
r(198) 

help logit

Missing comma before options

. logit lfp wc hc k5 k618 age lwg inc nocon 
variable nocon not found 
r(111) 

logit lfp wc hc k5 k618 age lwg inc, nocon  

Steps for resolving errors
Step 1: Prevent with robust and legible do files

o

Step 2: Update Stata and user written programs

update all

 adoupate, update

o search

Step 3: Clear memory: Increasingly extreme steps
1. In your do-file add 

clear all 
macro drop _all 

2. Restart Stata 

3. Reboot your computer 

4. Disable any programs running in the background 

5. Use another computer 

o



Step 4: Try other data

o mlogview
hausman

o

Step 5: Assume everything is wrong

o

o

Step 6: Run the program in steps

o
o
o

To exclude parts of the do-file 

   * logit lfp wc hc 

o
exit

Step 7: Explain the problem to the rubber duck

Step 8: Start over
Throw out all of the original code 

o scalar b=-3
scalar lb=-4

Use a new file with a new name 

o
Try alternative approaches 

tabl tab1

tabulate

Step 9: Rarely, it isn't your mistake

o

How to ask for help

Debugging a syntax error
1. The graph command

use wf-acjob, clear 
twoway (scatter job phd, msym(smcircle_hollow) msiz(small)), /// 
ytitle(Where do you work?) yscale(range(1 5.)) ylab(1(1)5, 
angle(ninety)) xtitle(Where did you graduate?) /// 
xscale(range(1 5)) xlab(1,5) caption(wfex-debug-graph1.do 2006-
03-17, size(small)) scheme(s2manual) aspectratio(1) by(fem) 

2. The error is 
option 5 not allowed 
r(198) 

 [P]     error . . .. . . . . . . . . . . . . . . . .  Return code 198 
invalid syntax; 
__________ invalid; 
range invalid; 
__________ invalid obs no; 
invalid filename; 
__________ invalid varname; 
__________ invalid name; 

multiple by's not allowed; 
__________ found where number expected; 
on or off required; 
All items in this list indicate invalid syntax.  These errors are 
often, but not always, due to typographical errors.  Stata attempts 
to provide you with as much information as it can.  Review the 
syntax diagram for the designated command. 

3. Why error messages can be misleading 

4. Reformat the code
twoway (scatter job phd, msym(smcircle_hollow) msiz(small)),   /// 
    ytitle(Where do you work?) yscale(range(1 5.)) /// 
    ylab(1(1)5, angle(ninety)) /// 
    xtitle(Where did you graduate?) xscale(range(1 5)) xlab(1,5) /// 
    caption(wfex-debug-graph2.do 2006-03-17, size(small)) /// 
    scheme(s2manual) aspectratio(1) by(fem) 



5. Check variables 
scatter job phd 

6. Run only parts of the code 
twoway (scatter job phd, msym(smcircle_hollow) msiz(small)), /* /// 

        ytitle(Where do you work?) yscale(range(1 5.)) /// 
        ylab(1(1)5, angle(ninety)) /// 
        xtitle(Where did you graduate?) xscale(range(1 5)) xlab(1,5) /// 
        caption(wfex-debug-graph4.do 2008-04-03, size(small)) /// 
        scheme(s2manual) aspectratio(1) by(fem) */ 

7. Try more code: 
    twoway (scatter job phd, msym(smcircle_hollow) msiz(small)), /// 
        ytitle(Where do you work?) yscale(range(1 5.)) /// 
        ylab(1(1)5, angle(ninety)) /* /// 
        xtitle(Where did you graduate?) xscale(range(1 5)) xlab(1,5) /// 
        caption(wfex-debug-graph5.do 2008-04-03, size(small)) /// 
        scheme(s2manual) aspectratio(1) by(fem) */ 

8. Add commands for the x-axis 
    twoway (scatter job phd, msym(smcircle_hollow) msiz(small)), /// 
        ytitle(Where do you work?) yscale(range(1 5.)) /// 
        ylab(1(1)5, angle(ninety)) /// 
        xtitle(Where did you graduate?) xscale(range(1 5)) xlab(1,5) /* /// 
        caption(wfex-debug-graph6.do 2008-04-03, size(small)) /// 
        scheme(s2manual) aspectratio(1) by(fem) */ 

    xtitle(Where did you graduate?) xscale(range(1 5)) xlab(1,5) 

xlab(1,5) xlab(1(1)5)

Debugging a loop
This looks right but the labels are wrong!
use wf-acjob, clear 
local varlist "job phd ment art cit fem fel" 
 
foreach y_var in `varlist' { // y axis variable 
 

   local y_lbl : variable label `y_var' // get y label 
   label var `y_var' "`y_var': `y_lbl'" // add name to var lab 
 

   foreach x_var in `varlist' { // x axis variable 
 

      if "`y_var'"!="`x_var'" { 
         local x_lbl : variable label `x_var' 
         label var `x_var' "`x_var': `x_lbl'" 
         scatter `y_var' `x_var', msym(circle_hollow) jitter(8) /// 
            ylab(, grid) xlab(, grid) aspectratio(1) 
         graph export wf6-review-`y_var'-`x_var'.png, replace 
      } // if not same variable 
 

   } // x axis loop 
 

} // y axis loop  

Debugging code in red
local varlist "job phd ment" 
foreach y_var in `varlist' { // y axis variable 
 
    local y_lbl : variable label `y_var' // get y label 
    label var `y_var' "`y_var': `y_lbl'" // add name to var lab 
    foreach x_var in `varlist' { // x axis variable 
        if "`y_var'"!="`x_var'" { 
            local x_lbl : variable label `x_var' 
            label var `x_var' "`x_var': `x_lbl'" 
 
local x_lbl : variable label `x_var' 
local y_lbl : variable label `y_var' 
di "xvar label=> `x_lbl'" 
di "yvar label=> `y_lbl'" 
 
/*        scatter `y_var' `x_var', msym(circle_hollow) jitter(8) /// 
            ylab(, grid) xlab(, grid) aspectratio(1) 
        graph export wf6-review-`y_var'-`x_var'.png, replace 
*/ 
      } // if not same variable 
   } // x axis loop 
} // y axis loop  

xvar label=> phd: PhD prestige 
yvar label=> job: Prestige of first job 
xvar label=> ment: Citations received by mentor 
yvar label=> job: Prestige of first job 
xvar label=> job: job: Prestige of first job 
yvar label=> phd: phd: PhD prestige 
xvar label=> ment: ment: Citations received by mentor 
yvar label=> phd: phd: PhD prestige 
xvar label=> job: job: job: Prestige of first job 
yvar label=> ment: ment: ment: Citations received by mentor 
xvar label=> phd: phd: phd: PhD prestige 
yvar label=> ment: ment: ment: Citations received by mentor 

Solution
spex wf-acjob, clear 
local varlist "job phd ment" 
 

// create temporary labels  
foreach var in `varlist' { 
    local lbl : variable label `var' 
    label var `var' "`var': `lbl'" 
} 
 

// create graphs 
foreach y_var in `varlist' { // y axis variable 
 
    foreach x_var in `varlist' { // x axis variable 
 
        if "`y_var'"!="`x_var'" { 
          scatter `y_var' `x_var', msym(circle_hollow) jitter(8) /// 
              ylab(, grid) xlab(, grid) aspectratio(1) 
          graph export wf6-review-`y_var'-`x_var'.png, replace 
        } // if not same variable 
 
   } // x axis loop 
} // y axis loop 



Debugging unexpected results

    . use wf-flims, clear 
    (Workflow data on functional limitations \ 2008-04-02) 
    . summarize hnd hvy lft rch sit std stp str wlk 
 
        Variable |       Obs        Mean    Std. Dev.       Min        Max 
    -------------+-------------------------------------------------------- 
             hnd |      1644     .169708    .3754903          0          1 
             hvy |      1644    .4288321    .4950598          0          1 
             lft |      1644    .2475669    .4317301          0          1 
             rch |      1644    .1703163    .3760248          0          1 
             sit |      1644    .2104623     .407761          0          1 
    -------------+-------------------------------------------------------- 
             std |      1644    .3607056    .4803514          0          1 
             stp |      1644    .3643552    .4813953          0          1 
             str |      1644    .2974453    .4572732          0          1 
             wlk |      1644    .2706813    .4444469          0          1 

    . gen strwlk = 10*str + wlk 
    . tabulate strwlk, missing 
 
         strwlk |      Freq.     Percent        Cum. 
    ------------+----------------------------------- 
              0 |      1,091       66.36       66.36 
              1 |         64        3.89       70.26 
             10 |        108        6.57       76.82 
             11 |        381       23.18      100.00 
    ------------+----------------------------------- 
          Total |      1,644      100.00 

    gen flimall = hnd*100000000 + hvy*10000000 + lft*1000000 /// 
        + rch*100000 + sit*10000 + std*1000 + stp*100 + str*10 + wlk 

    gen flimall =      hnd*100000000 /// 
                     + hvy*10000000 /// 
                     + lft*1000000 /// 
                     + rch*100000 /// 
                     + sit*10000 /// 
                     + std*1000 /// 
                     + stp*100 /// 
                     + str*10 /// 
                     + wlk 
    label var flimall "hnd-hvy-lft-rch-sit-stp-stp-str-wlk"  

    . tabulate flimall, missing 
 
    hnd-hvy-lft | 
    -rch-sit-st | 
    d-stp-str-w | 
             lk |      Freq.     Percent        Cum. 
    ------------+----------------------------------- 
              0 |        715       43.49       43.49 
              1 |          5        0.30       43.80 
             10 |          8        0.49       44.28 
             11 |          2        0.12       44.40 

        1100111 |          1        0.06       54.08 
        1101100 |          1        0.06       54.14 
       1.00e+07 |         86        5.23       59.37 

       1.10e+08 |          7        0.43       88.56 
       1.11e+08 |         15        0.91       91.42 

    ------------+----------------------------------- 
          Total |      1,644      100.00 

    . gen sflimall=string(flimall, "%16.0f") 
    . label var sflimall "hnd-hvy-lft-rch-sit-std-stp-str-wlk" 
    . tabulate sflimall, missing 
 
    hnd-hvy-lft | 
    -rch-sit-st | 
    d-stp-str-w | 
             lk |      Freq.     Percent        Cum. 
    ------------+----------------------------------- 
              0 |        715       43.49       43.49 
              1 |          5        0.30       43.80 
             10 |          8        0.49       44.28 
            100 |         28        1.70       45.99 

       10000000 |         86        5.23       53.83 
      100000000 |         15        0.91       54.74 
       10000001 |          4        0.24       54.99 
      100000096 |          4        0.24       55.23 

 
        1000001 |          1        0.06       55.29 
       10000010 |          5        0.30       55.60 
       10000011 |          5        0.30       55.90 

 
    ------------+----------------------------------- 

o
    . gen flimall = std*1000 /// 
    >                  + stp*100 /// 
    >                  + str*10 /// 
    >                  + wlk 
    . gen  sflimall=string(flimall,"%9.0f") 
    . label var sflimall "std-stp-str-wlk" 
    . tabulate  sflimall, missing
 
    std-stp-str | 
           -wlk |      Freq.     Percent        Cum. 
    ------------+----------------------------------- 
              0 |        866       52.68       52.68 
              1 |         16        0.97       53.65 
             10 |         24        1.46       55.11 
:::snip::: 
           1101 |         27        1.64       76.40 
            111 |         20        1.22       77.62 
           1110 |         45        2.74       80.35 
           1111 |        323       19.65      100.00 
    ------------+----------------------------------- 
          Total |      1,644      100.00 

o
o

    . gen double flimall = hnd*100000000 /// 
    >                         + hvy*10000000 /// 
    >                         + lft*1000000 /// 
    >                         + rch*100000 /// 
    >                         + sit*10000 /// 
    >                         + std*1000 /// 
    >                         + stp*100 /// 
    >                         + str*10 /// 

    >                         + wlk 



Advanced debugging by tracing

o set trace on
o set tracedepth

set trace off

Summary

o

Part 15: Cleaning data

o
o

o
o

o

Terminology

o
o

Types of data cleaning

Values Review: earlier work treated 99’s as valid Missing Review: missing recoded to divorced 



Substantive Review: thoughtful coding decisions Values review
Tools
codebook, compact

summarize

tab1 dotplot stem

tabulate scatter

Values review of data about the scientific career
. use wf-acjob, clear 
(Workflow data on academic biochemists | 2008-04-02) 
 
. codebook, compact 
 
Variable   Obs Unique      Mean  Min       Max  Label 
------------------------------------------------------------------------------ 
job        408     80  2.233431    1       4.8  Prestige of first job 
fem        408      2  .3897059    0         1  Gender: 1=female 0=male 
phd        408     89  3.200564    1       4.8  PhD prestige 
ment       408    123  45.47058    0  531.9999  Citations received by mentor 
fel        408      2  .6176471    0         1  Fellow: 1=yes 0=no 
art        408     14  2.276961    0        18  # of articles published 
cit        408     87  21.71569    0       203  # of citations received 
------------------------------------------------------------------------------ 

job phd job

. tab1 art, missing 
 

-> tabulation of art 
 

       # of | 
   articles | 
  published |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          0 |         85       20.83       20.83 
          1 |        102       25.00       45.83 
          2 |         72       17.65       63.48 
          3 |         49       12.01       75.49 
          4 |         45       11.03       86.52 
          5 |         25        6.13       92.65 
          6 |         13        3.19       95.83 
          7 |          9        2.21       98.04 
          8 |          2        0.49       98.53 
          9 |          1        0.25       98.77 
         10 |          2        0.49       99.26 
         12 |          1        0.25       99.51 
         15 |          1        0.25       99.75 
         18 |          1        0.25      100.00 
------------+----------------------------------- 
      Total |        408      100.00.   

job phd ment cit
. stem cit 
 
Stem-and-leaf plot for cit (# of citations received) 
 
   0* | 0000000000000000000000000000000000000000000000000000000000000 ... 
(212) 
   1* | 0000001111222222333333333444444555555567788888888899999 
   2* | 000001111122223333334444445566666777789 
   3* | 0000122222333444556667789 
   4* | 122335566777788888889 
   5* | 1144556677789 
   6* | 0034555556667 
   7* | 01145778 
   8* | 012368 
   9* | 
  10* | 0057 
  11* | 3 
  12* | 03 
  13* | 
  14* | 069 
  15* | 4 
  16* | 39 
  17* | 
  18* | 
  19* | 
  20* | 113  

dotplot

1: foreach varname in art cit phd job ment { 
2:     local varlbl : variable label `varname' 
3:     label var `varname' "`varname': `varlbl'" // add name label 
4:     dotplot `varname' 
5:     graph export `pgm'-wf-acjob-`varname'.png, replace 
6: }   



Lots of graphs

o

Values review of data on family values

. use wf-gsswarm, clear 
(Workflow data from 2002 GSS on women and work | 2008-04-02) 
. tabulate v4, miss 
 
  Workg mom: warm relation | 
                  child ok |      Freq.     Percent        Cum. 
---------------------------+----------------------------------- 
            Strongly agree |        468       39.97       39.97 
                     Agree |        383       32.71       72.67 
Neither agree nor disagree |        124       10.59       83.26 
         Strongly disagree |        184       15.71       98.98 
               Cant choose |         11        0.94       99.91 
               Na, refused |          1        0.09      100.00 
---------------------------+----------------------------------- 
                     Total |      1,171      100.00 

. tabulate v4, nolab 
 
 Workg mom: | 
       warm | 
   relation | 
   child ok |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          1 |        468       39.97       39.97 
          2 |        383       32.71       72.67 
          3 |        124       10.59       83.26 
          5 |        184       15.71       98.98 
          8 |         11        0.94       99.91 
          9 |          1        0.09      100.00 
------------+----------------------------------- 
      Total |      1,171      100.00 

o

Substantive review

o
o

What does time to degree measure?

o

. use wf-acpub, replace 
(Workflow data on scientific productivity | 2008-04-04) 
 
. nbreg pub enrol phd female, nolog irr 
 
Negative binomial regression                      Number of obs   =        278 
                                                  LR chi2(3)      =      23.54 
Dispersion     = mean                             Prob > chi2     =     0.0000 
Log likelihood = -606.28466                       Pseudo R2       =     0.0190 
 
------------------------------------------------------------------------------ 
         pub |        IRR   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
       enrol |   1.056071   .0156467     3.68   0.000     1.025845    1.087188 
         phd |   1.103679   .0654233     1.66   0.096     .9826206    1.239652 
      female |      .7533   .0968775    -2.20   0.028     .5854637    .9692504 
-------------+---------------------------------------------------------------- 
    /lnalpha |  -.4592692   .1471825                     -.7477416   -.1707969 
-------------+---------------------------------------------------------------- 
       alpha |   .6317451   .0929818                      .4734346    .8429928 
------------------------------------------------------------------------------ 
Likelihood-ratio test of alpha=0:  chibar2(01) =  172.26 Prob>=chibar2 = 0.000 
 



. nbreg pub enrol_fixed phd female, nolog irr 
 
Negative binomial regression                      Number of obs   =        278 
                                                  LR chi2(3)      =      26.97 
Dispersion     = mean                             Prob > chi2     =     0.0000 
Log likelihood = -604.5674                        Pseudo R2       =     0.0218 
 
------------------------------------------------------------------------------ 
         pub |        IRR   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
 enrol_fixed |     .82013    .037127    -4.38   0.000     .7504973    .8962233 
         phd |   1.112075   .0666021     1.77   0.076     .9889072    1.250582 
      female |   .7450266   .0964034    -2.27   0.023     .5781357     .960094 
-------------+---------------------------------------------------------------- 
    /lnalpha |  -.4493616   .1428516                     -.7293456   -.1693777 
-------------+---------------------------------------------------------------- 
       alpha |   .6380353   .0911444                      .4822244      .84419 
------------------------------------------------------------------------------ 
Likelihood-ratio test of alpha=0:  chibar2(01) =  211.39 Prob>=chibar2 = 0.000 
 

Examine high frequency values

. use wf-acjob, clear 
(Workflow data on academic biochemists | 2008-04-02) 
. summarize phd 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         phd |       408    3.200564    .9537509          1        4.8 

phd
. tabulate phd if phd>4 & phd<4.5 
 
        PhD | 
   prestige |      Freq.     Percent        Cum. 
------------+----------------------------------- 
       4.14 |          3        4.35        4.35 
       4.16 |          8       11.59       15.94 
       4.25 |          1        1.45       17.39 
       4.29 |         37       53.62       71.01 
       4.32 |          9       13.04       84.06 
       4.34 |          4        5.80       89.86 
       4.48 |          7       10.14      100.00 
------------+----------------------------------- 
      Total |         69      100.00 

Links among variables

. use wf-acjob, clear 
(Workflow data on academic biochemists | 2008-04-02) 
. codebook phd job, compact 
 
Variable   Obs Unique      Mean  Min  Max  Label 
---------------------------------------------------------------- 
phd        408     89  3.200564    1  4.8  PhD prestige 
job        408     80  2.233431    1  4.8  Prestige of first job 
---------------------------------------------------------------- 

o
o

dotplot

. label var phd "phd: PhD prestige" 

. label var job "job: Prestige of first job" 

. dotplot phd job, xlab(,labsize(medium)) 

. scatter job phd, msym(circle_hollow) jitter(8) /// 
>     ylab(, grid) xlab(, grid) aspectratio(1) 



Template to create pairs of graphs 

. local y_var age 

. local x_var income 
 
. if ("`y_var'"!="`x_var'") display "y_var does not equal x_var" 
 
    y_var does not equal x_var 
 
. if ("`y_var'"=="`x_var'") display "y_var equals x_var" 

. local y_var income 

. local x_var income 
 
. if ("`y_var'"!="`x_var'") display "y_var does not equal x_var" 
 
. if ("`y_var'"=="`x_var'") display "y_var equals x_var" 
 
    y_var equals x_var 

 

use wf-acjob, clear 
local varlist "job phd ment art cit fem fel" 
 
foreach varname in `varlist' { 
    local varlabel : variable label `varname' 
    label var `varname' "`varname': `varlabel'" 
} 
 
foreach y_var in `varlist' { // y axis variable 
 
    foreach x_var in `varlist' { // x axis variable 
 
        if "`y_var'"!="`x_var'" { 
 
          scatter `y_var' `x_var', msym(circle_hollow) jitter(8) /// 
              ylab(, grid) xlab(, grid) aspectratio(1) 
          graph export XXX-`y_var'-`x_var'.png, replace 
 
        } // if not same variable 
 
   } // x axis loop 
 
} // y axis loop  

Changes in survey questions Missing data review
., .a .b .z

.z > .y >...> .b > .a > . >

999<.z

.z>999

o
o
o
o

misstable misschk

Problems with missing values

o
o

o

Danger: Logical comparisons and missing values

. tabulate art, missing 
 

# articles | 
  published |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          0 |        102       41.98       41.98 
          1 |         72       29.63       71.60 
          2 |         25       10.29       81.89 
          3 |         13        5.35       87.24 
          4 |          9        3.70       90.95 
          9 |          1        0.41       91.36 
         12 |          1        0.41       91.77 
         15 |          1        0.41       92.18 
          . |         19        7.82      100.00 
------------+----------------------------------- 
      Total |        243      100.00  



. gen art_tr5 = art 
(19 missing values generated) 
. label var art_tr5 "# of articles truncated at 5" 
. note art_tr5: `tag’ 
. replace art_tr5 = 5 if art>5 
(22 real changes made) 

. tabulate art art_tr5, missing 
 
  # of | 
  articles |                trunc at 5 # of articles published 
 published |         0          1          2          3          4          5 |     Total 
-----------+------------------------------------------------------------------+---------- 
         0 |       102          0          0          0          0          0 |       102 
         1 |         0         72          0          0          0          0 |        72 
         2 |         0          0         25          0          0          0 |        25 
         3 |         0          0          0         13          0          0 |        13 
         4 |         0          0          0          0          9          0 |         9 
         9 |         0          0          0          0          0          1 |         1 
        12 |         0          0          0          0          0          1 |         1 
        15 |         0          0          0          0          0          1 |         1 
         . |         0          0          0          0          0         19 |        19 
-----------+------------------------------------------------------------------+---------- 
     Total |       102         72         25         13          9         22 |       243 

. gen art_tr5V2 = art 
(19 missing values generated) 
. replace art_tr5V2 = 5 if art>5 & art<. 
(3 real changes made) 
. label var art_tr5V2 "# of articles truncated at 5 " 
. note art_tr5V2: `tag’ 
 
. tabulate art_tr5V2, missing 
 
 trunc at 5 | 
       # of | 
   articles | 
  published |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          0 |        102       41.98       41.98 
          1 |         72       29.63       71.60 
          2 |         25       10.29       81.89 
          3 |         13        5.35       87.24 
          4 |          9        3.70       90.95 
          5 |          3        1.23       92.18 
          . |         19        7.82      100.00 

Indicators if cases are missing

gen art_ismiss = missing(art) 
label var art_ismiss "art is missing?" 
note art_ismiss: `tag’ 
label def Lismiss 0 0_valid 1 1_missing 
label val art_ismiss Lismiss 
 

. tabulate art art_ismiss, missing 
 

      # of | 
  articles |    art is missing? 
 published |   0_valid  1_missing |     Total 
-----------+----------------------+---------- 
         0 |       102          0 |       102 
         1 |        72          0 |        72 
         2 |        25          0 |        25 
<snip> 
        12 |         1          0 |         1 
        15 |         1          0 |         1 
         . |         0         19 |        19 
-----------+----------------------+---------- 
     Total |       224         19 |       243  

Examine the distribution of missing values
tabulate tab1

missing

o

tab1 phd if missing(phd), miss 

unab allvars : _all 
foreach varname in `allvars’ { 
    tab1 `varname' if missing(`varname'), missing 
} 
 

-> tabulation of phd if missing(phd) 
 

        PhD | 
   prestige |      Freq.     Percent        Cum. 
------------+----------------------------------- 
    a_NonUS |          7       36.84       36.84 
 b_Unranked |         12       63.16      100.00 
------------+----------------------------------- 
      Total |         19      100.00 
 

<snip> 

Verifying and expanding missing data codes

.a 

.b

.c catskip

.d nodebrief

.f femskip

.m maleskip

.p priorref

.r refused

.s single

.x nosxrel

.z prior_0

label def missdat .c "c_catskip"  .d "d_nodebrief" .f "f_femskip"  /// 
                  .m "m_maleskip" .p "p_priorref"  .r "r_refused"  /// 

                    .s "s_single"   .x "x_nosxrel"   .z "z_prior_0" 
 

.a .b



Missing values that are not missing

. gen martotal = (maryearV2*12) + marmthV2 
(109 missing values generated) 
. label var martotal "Total months married" 
. note martotal: `tag’ 

. replace martotal = .s if married==2 
(86 real changes made, 86 to missing) 
. replace martotal = .p if married==.a 
(1 real change made, 1 to missing) 

martotal .r maryearV2 marmthV2
. replace martotal = .r if marmthV2==.r | maryearV2==.r 
(22 real changes made, 22 to missing)  

. label val martotal missdat 

. tab1 martotal if missing(martotal), missing 
  

-> tabulation of martotal if missing(martotal) 
 

      Total | 
     months | 
    married |      Freq.     Percent        Cum. 
------------+----------------------------------- 
 p_priorref |          1        0.92        0.92 
  r_refused |         22       20.18       21.10 
   s_single |         86       78.90      100.00 
------------+----------------------------------- 
      Total |        109      100.00 

.r
. list martotal maryearV2 marmthV2 if martotal==.r, clean 
        martotal   maryearV2    marmthV2 
 12.   r_refused          53   r_refused 
 34.   r_refused          31   r_refused 
 37.   r_refused   r_refused          11 
 38.   r_refused          33   r_refused 
 40.   r_refused   r_refused           8 
 45.   r_refused          54   r_refused 

173.   r_refused          46   r_refused 
190.   r_refused   r_refused           4 
198.   r_refused          26   r_refused 
206.   r_refused          24   r_refused 
210.   r_refused          13   r_refused 
214.   r_refused          28   r_refused 

martotal
. gen martotalV2 = . 
(218 missing values generated) 
. label var martotalV2 "Total months married" 
. note martotalV2: `tag’ 
. replace martotalV2 = (12*maryearV2) + marmthV2 /// 
>     if !missing(maryearV2) & !missing(marmthV2) 
(109 real changes made) 
. replace martotalV2 = 12*maryearV2 if !missing(maryearV2) & marmthV2==.r 
(19 real changes made) 

.r

. replace martotalV2 = marmthV2 if maryearV2==.r & !missing(marmthV2) 
(3 real changes made) 

. replace martotalV2 = .s if married==2 
(86 real changes made, 86 to missing) 
. replace martotalV2 = .p if married==.a 
(1 real change made, 1 to missing) 
. label val martotalV2 missdat 

. tab1 martotalV2 if missing(martotalV2), miss 
 
-> tabulation of martotalV2 if missing(martotalV2) 
 

      Total | 
     months | 
    married |      Freq.     Percent        Cum. 
------------+----------------------------------- 
 p_priorref |          1        1.15        1.15 
   s_single |         86       98.85      100.00 
------------+----------------------------------- 
      Total |         87      100.00  



martotalV2

. sort martotalV2 

. list martotalV2 maryearV2 marmthV2, clean 
 
       martotalV2    maryearV2     marmthV2 
  1.            2            0            2 
  2.            4    r_refused            4 
  3.            8    r_refused            8 
snip  
  4.           11    r_refused           11 
  5.           16            1            4 
  9.           25            2            1 
snip  
127.          648           54    r_refused 
128.          651           54            3 
129.          715           59            7 
snip 131.          735           61            3 
132.   p_priorref   p_priorref   p_priorref 
133.     s_single     s_single     s_single 
134.     s_single     s_single     s_single 
snip  

Internal consistency review

o
o
o

o

o

Consistency in data on the scientific career

. use wf-acjob, clear 
(Workflow data on academic biochemists | 2008-04-02) 
. tab cit if art==0, missing 
 
       # of | 
  citations | 
   received |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          0 |         85      100.00      100.00 
------------+----------------------------------- 
      Total |         85      100.00 

 

. compare job phd 
                                        ---------- difference ---------- 
                            count       minimum      average     maximum 
------------------------------------------------------------------------ 
job<phd                       288         -3.64    -1.462847        -.02 
job=phd                        48 
job>phd                        72           .01     .3709723        2.08 
                       ---------- 
jointly defined               408         -3.64    -.9671323        2.08 
                       ---------- 
total                         408 

. gen job_phd = job - phd 

. label var job_phd "job-phd: >0 if better job" 

. note job_phd: `tag’ 

. sort job phd, stable 

. list job_phd art ment fem cit fel job phd if job_phd>.65, clean 
 

        job_phd   art       ment        fem   cit           fel    job    phd 
400.   .6500001     1         36   1_Female    18   0_NotFellow   3.52   2.87 
401.        .74     2          6     0_Male    19      1_Fellow   2.49   1.75 
402.   .8200002     0         20   1_Female     0   0_NotFellow   3.68   2.86 
403.   .8899999     0          9     0_Male     0   0_NotFellow   3.04   2.15 
404.   .8900001     0         20     0_Male     0      1_Fellow   4.48   3.59 
405.       1.07     4        233     0_Male    22      1_Fellow   2.88   1.81 
406.       1.13     0          0   1_Female     0   0_NotFellow   3.52   2.39 
407.       1.17     4   69.99999     0_Male    41      1_Fellow   3.68   2.51 
408.       2.08     1   3.999999   1_Female    32      1_Fellow   3.36   1.28 

. list job_phd art ment fem cit fel job phd if job_phd<-2, clean 
 

       job_phd   art       ment        fem   cit           fel    job    phd 
  1.     -3.64     0          2   1_Female     0      1_Fellow      1   4.64 
  2.     -3.64     3         16     0_Male    24      1_Fellow      1   4.64 
  3.     -3.62     0   87.99999     0_Male     0      1_Fellow      1   4.62 
  4.     -3.54     1         23   1_Female     5   0_NotFellow      1   4.54 
  5.     -3.54     5   47.00001     0_Male    27   0_NotFellow      1   4.54 

Informal imputation



o

o
Informal imputation

Summary
The problem

The solution

Part 16: Adding variables

o
o
o

Adding new variables
Principles for adding variables

A new variable template
  
  label var  

  note : `tag'

  label def   // if appropriate

  label val   // if appropriate

Principle 1: New variables get new names

Danger of re-using a name 
lwg

use wf-lfp, clear 
logit lfp k5 k618 age wc hc lwg inc 
estimates store model1 

replace lwg = exp(lwg) 
* where is the variable label and note? 
logit lfp k5 k618 age wc hc lwg 
estimates store model2  

. estimates table _all, stats(N bic) eform b(%9.3f) t(%6.2f) 
 
-------------------------------------- 
    Variable |   model1      model2 
-------------+------------------------ 
          k5 |     0.232       0.233 
             |     -7.43       -7.28 
::: 
          wc |     2.242       1.469 
             |      3.51        1.65 
          hc |     1.118       0.855 
             |      0.54       -0.79 
         lwg |     1.831       1.497 
             |      4.01        6.48 
         inc |     0.966 
             |     -4.20 
-------------+------------------------ 
           N |   753.000     753.000 
         bic |   958.258     924.418 
-------------------------------------- 
                           legend: b/t 

lwg inc



Principle 2: Verify that new variables are correct

Example

. gen inclog = log(inc) 
 (1 missing value generated) 
. label var inclog "log(inc)" 
. note inclog: `tag’ 

. list inc inclog if inc<0, clean 
 

             inc   inclog 
373.   -.0290001        . 

Principle 3: Add metadata to new variables

o
o
o

gen inc_log5 = ln(inc+.5) if !missing(inc) 
label var inc_log5 "Log(inc+.5)" 
note inc_log5: `tag’ 

local tag

Principle 4: Keep the source variables
Why keep source variables? 

note: inc was deleted due to a coding error; use incV2. /// 
  If you need inc see binlfp2.dta | `tag' 

note inc: DO NOT USE inc due to incorrect coding of high /// 
    incomes; use incV2 | `tag' 
label var inc: "DO NOT USE; see incV2 | `tag'"  

Renaming source variables 

o
o

S
 rename gender Sgender 

 note Sgender: renamed source variable gender | `tag’ 

o

Selected commands for creating variables
generate

generate agesqrt=sqrt(age)  
gen agesqrt=sqrt(age) if age>5 

clonevar

generate versus clonevar 
. use wf-lfp, clear 
(Workflow data on labor force participation | 2008-04-02) 
 

. gen lfp_gen = lfp 

. note lfp_gen: `tag’ 
 

. clonevar lfp_clone = lfp 

. note lfp_clone: `tag’ 
 

. summarize lfp* 
 

  Variable |       Obs        Mean    Std. Dev.       Min        Max 
-----------+-------------------------------------------------------- 
       lfp |       753    .5683931    .4956295          0          1 
   lfp_gen |       753    .5683931    .4956295          0          1 
 lfp_clone |       753    .5683931    .4956295          0          1 
 
. describe lfp* 
 

variable    storage  display  value 
name        type    format    label  variable label 
-------------------------------------------------------------------- 
lfp         byte    %9.0g     lfp    In paid labor force? 1=yes 0=no 
lfp_gen     float   %9.0g 
lfp_clone   byte    %9.0g     lfp    In paid labor force? 1=yes 0=no 



replace

. gen educcat = edyears 
(159 missing values generated) 
. label var educcat "Categorized years of education" 
. note educcat: `tag’ 

. replace educcat = 1 if edyears>=0 & edyears<=8   // no HS 
(278 real changes made) 
. replace educcat = 2 if edyears>=9 & edyears<=11  // some HS 
(501 real changes made) 
. replace educcat = 3 if edyears==12               // HS 
(205 real changes made) 
. replace educcat = 4 if edyears>=13 & edyears<=15 // some college 
(517 real changes made) 
. replace educcat = 5 if edyears>=16 & edyears<=24 // college plus 
(135 real changes made)  

. label def educcat 1 NoHS 2 SomeHS 3 HS 4 SomeCol 5 ColPlus /// 
>      .b b_Refused .c c_DontKnow .d d_AtSchool .e e_AtCollege /// 
>      .f f_NoFrmlSchl 
. label val educcat educcat 

. tab1 educcat, missing 
 
-> tabulation of educcat 
 
     educcat |      Freq.     Percent        Cum. 
-------------+----------------------------------- 
        NoHS |        281       15.63       15.63 
      SomeHS |        501       27.86       43.49 
          HS |        205       11.40       54.89 
     SomeCol |        517       28.75       83.65 
     ColPlus |        135        7.51       91.16 
   b_Refused |          3        0.17       91.32 
  c_DontKnow |         61        3.39       94.72 
  d_AtSchool |          7        0.39       95.11 
 e_AtCollege |         73        4.06       99.17 
f_NoFrmlSchl |         15        0.83      100.00 
-------------+----------------------------------- 
       Total |      1,798      100.00  

New variables with missing values

o
o

. use wf-russia01, clear 
(Workflow data to illustrate creating variables | 2008-04-02) 
 

. tab1 marstat, miss 
 

-> tabulation of marstat 
 

    Marital | 
     status |      Freq.     Percent        Cum. 
------------+----------------------------------- 
  1_married |        931       51.78       51.78 
  2_widowed |        321       17.85       69.63 
 3_divorced |        215       11.96       81.59 
4_separated |         33        1.84       83.43 
   5_single |        279       15.52       98.94 
         .b |         19        1.06      100.00 
------------+----------------------------------- 
      Total |      1,798      100.00  

. gen ismar_wrong = (marstat==1) 

. label var ismar_wrong "Is married created incorrectly." 

. note ismar_wrong: `tag’ 

. label def Lyesno 0 0_no 1 1_yes 

. label val ismar_wrong Lyesno 

 

. tabulate marstat ismar_wrong, miss 
 
            |  Is married created 
    Marital |     incorrectly. 
     status |      0_no      1_yes |     Total 
------------+----------------------+---------- 
  1_married |         0        931 |       931 
  2_widowed |       321          0 |       321 
 3_divorced |       215          0 |       215 
4_separated |        33          0 |        33 
   5_single |       279          0 |       279 
         .b |        19          0 |        19 
------------+----------------------+---------- 
      Total |       867        931 |     1,798 

. gen ismar_right = (marstat==1) if !missing(marstat) 
(19 missing values generated) 
. label var ismar_right "Is married?" 
. note ismar_right: `tag’ 
. label val ismar_right Lyesno 
. tabulate marstat ismar_right, miss 
 
    Marital |           Is married? 
     status |      0_no      1_yes          . |     Total 
------------+---------------------------------+---------- 
  1_married |         0        931          0 |       931 
  2_widowed |       321          0          0 |       321 
 3_divorced |       215          0          0 |       215 
4_separated |        33          0          0 |        33 
   5_single |       279          0          0 |       279 
         .b |         0          0         19 |        19 
------------+---------------------------------+---------- 
      Total |       848        931         19 |     1,798 

Other commands for creating variables

recode: an easy way to recode categories 

. recode marstat 1=1   /// married stays married 
                 2/5=0 /// 2 to 5 becomes not married 
                , gen(ismar2_right) 
(848 differences between marstat and ismar2_right) 
. label var ismar2_right "Is married?" 
. note ismar2_right: `tag’ 
 

. tabulate marstat ismar2_right, miss 
 

    Marital |           Is married? 
     status |         0          1         .b |     Total 
  1_married |         0        931          0 |       931 
  2_widowed |       321          0          0 |       321 
 3_divorced |       215          0          0 |       215 
4_separated |        33          0          0 |        33 
   5_single |       279          0          0 |       279 
         .b |         0          0         19 |        19 
------------+---------------------------------+---------- 
      Total |       848        931         19 |     1,798  



. recode edyears  0/ 8=1  /// 0 to 8 is 1 
                  9/11=2  /// 9 to 11 is 2 
                    12=3  /// 12 is 3 
                 13/15=4  /// 13 to 15 is 4 
                 16/24=5  /// 16 to 24 is 5 
               , gen(edcat2) 
(1636 differences between edyears and educcat2) 
. note edcat2: `tag’ 

. recode edyears 1=0 *=1, gen(edtest1) 
(1798 differences between edyears and edtest1) 
. note edtest1: `tag’ 

. recode edyears 1=0 *=1 if !missing(edyears), gen(edtest2) 
(1639 differences between edyears and edtest2) 
. note edtest2: `tag’ 

recode

replace

egen
egen

egen

. use wf-lfp, clear 
(Workflow data on labor force participation | 2008-04-02) 
. summarize age 
 

    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
         age |       753    42.53785    8.072574         30         60 
 

. gen agestd = (age - r(mean)) / r(sd) 

. label var agestd "Age standardized using generate" 

. note agestd: using r(mean) | `tag’ 

. egen agestdV2 = std(age) 

. label var agestdV2 "Age standardized using egen" 

. note agestdV2: using egen | `tag’ 

. summarize agestd agestdV2 
 

    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
      agestd |       753   -7.05e-09           1  -1.553141   2.163145 
    agestdV2 |       753   -7.05e-09           1  -1.553141   2.163145 

anycount
. egen count0 = anycount(lfp k5 k618 age wc hc lwg inc), /// 
                values(0) 
. label var count0 "# of 0's in lfp k5 k618 age wc hc lwg inc" 
. note count0: `tag’ 
. tabulate count0, miss 
 
# of 0's in | 
lfp k5 k618 | 
  age wc hc | 
    lwg inc |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          0 |         11        1.46        1.46 
          1 |         94       12.48       13.94 
          2 |        157       20.85       34.79 
          3 |        251       33.33       68.13 
          4 |        169       22.44       90.57 
          5 |         71        9.43      100.00 
------------+----------------------------------- 
      Total |        753      100.00 

gen count0v2 = 0 
label var count0v2 "v2:lfp k5 k618 age wc hc lwg inc == 0" 
note count0v2: `tag’ 
 
foreach var in lfp k5 k618 age wc hc lwg inc { 
 

    replace count0v2 = count0v2 + 1 if `var'==0 
 

} 

compare count0 count0v2

tabulate, gen() 

o gen(stub)
o
o missing

. use wf-russia01, clear 
(Workflow data to illustrate creating variables | 2008-04-02) 
 

. tabulate marstat, gen(ms_is) 
 

    Marital | 
     status |      Freq.     Percent        Cum. 
------------+----------------------------------- 
  1_married |        931       52.33       52.33 
  2_widowed |        321       18.04       70.38 
 3_divorced |        215       12.09       82.46 
4_separated |         33        1.85       84.32 
   5_single |        279       15.68      100.00 
------------+----------------------------------- 
      Total |      1,779      100.00 

. codebook ms_is*, compact 
 
Variable    Obs Unique      Mean  Min  Max  Label 
------------------------------------------------------------------- 
ms_is1     1779      2  .5233277    0    1  marstat==1_married 
ms_is2     1779      2  .1804384    0    1  marstat==2_widowed 
ms_is3     1779      2  .1208544    0    1  marstat==3_divorced 
ms_is4     1779      2  .0185497    0    1  marstat==4_separated 
ms_is5     1779      2  .1568297    0    1  marstat==5_single 
 
. tabulate marstat ms_is1, miss 
 

    Marital |        marstat==1_married 
     status |         0          1          . |     Total 
------------+---------------------------------+---------- 
  1_married |         0        931          0 |       931 
  2_widowed |       321          0          0 |       321 
 3_divorced |       215          0          0 |       215 
4_separated |        33          0          0 |        33 
   5_single |       279          0          0 |       279 
         .b |         0          0         19 |        19 
------------+---------------------------------+---------- 
      Total |       848        931         19 |     1,798 



Verifying variables

Method 1: Check the code

Method 2: List variables

browse edit

finc_mid
recode finc_mid /// with illegible code 
1=1.5 2=4 3=6 4=8 5=9.5 6=10.5 7=11.5 8=12.5 /// 
9=13.5 10=14.5 11=16 12=18.5 13=21 14=23.5 15=23.5 16=32.5 17=37.5 1/// 
8=42.5 19=47.5 20=55 21=67.5 22=82.5 23=97.5 24=131.25 

fincome=1

. set seed 1951 

. tempvar selvar // variable disappears when do file ends. 

. gen `selvar' = int( (runiform()*_N)+ 1 ) // it works! 

. label var `selvar' "Random numbers from 1 to _N" 

. sort income // to list records in order  

  

. list fincome finc_mid if `selvar' <= 20, clean 
 
          fincome   finc_mid 
  92.      2_3-5K          4 
 211.      3_5-7K          6 
 242.      4_7-9K          8 
 333.     5_9-10K        9.5 
 479.    8_12-13K       12.5 
 727.   12_17-20K       18.5 
 819.   13_20-22K         21 
 876.   14_22-25K       23.5 
 930.   14_22-25K       23.5 
1105.   15_25-30K       23.5 
1118.   15_25-30K       23.5 
1174.   16_30-35K       32.5 
1236.   16_30-35K       32.5 
1338.   17_35-40K       37.5 

Method: use by command
. sort finc_mid 

. by finc_mid: sum fincome 

-> finc_mid = 1.5 

Variable |        Obs        Mean    Std. Dev.       Min        Max 

---------+--------------------------------------------------------- 

 fincome |         67           1           0          1          1 

<snip> 

-> finc_mid = 23.5 

Variable |        Obs        Mean    Std. Dev.       Min        Max 

---------+--------------------------------------------------------- 

 fincome |        300       14.58    .4943832         14         15 

 

-> finc_mid = 32.5 

Variable |        Obs        Mean    Std. Dev.       Min        Max 

---------+--------------------------------------------------------- 

 fincome |        178          16           0         16         16 

Method 3: Plotting
Creating finc_mid 
scatter fincome finc_mid, msymbol(circle_hollow) 

Taking the square root of inc 
gen incsqrt = sqrt(inc) if !missing(inc) 
label var incsqrt "Square root of inc" 
note incsqrt: `tag’ 
scatter incsqrt inc, msym(circle_hollow) 

  



Method 4: Tabulate with missing option

. gen incsqrt = sqrt(inc) 
(1764 missing values generated) 
. label var incsqrt "Sqrt family income excluding wife's" 
. note incsqrt: `tag’ 

. tabulate inc incsqrt if missing(inc) | missing(incsqrt), miss 
 

           |   Sqrt 
           |   family 
    Family |   income 
    income | excluding 
 excluding |   wife's 
    wife's |         . |     Total 
-----------+-----------+---------- 
 -.0290001 |         1 |         1 
         . |     1,742 |     1,742 
        .a |         5 |         5 
        .b |        16 |        16 
-----------+-----------+---------- 
     Total |     1,764 |     1,764  

Method 5: Construct variables multiple ways
recode

. recode edyears 0/8=1 9/11=2 12=3 13/15=4 16/24=5, gen(educcat) 
(1636 differences between edyears and educcat) 
. note edyears: `tag’ 

replace
. gen educcatV2 = edyears 
(848 missing values generated) 
. label var educcatV2 "categorize educ using replace." 
. note edyearsV2: `tag’ 
 

. replace educcatV2 = 1 if edyears>=0  & edyears<=8   // no HS 
(278 real changes made) 
 

. replace educcatV2 = 2 if edyears>=9  & edyears<=11  // some HS 
(501 real changes made) 
 

. replace educcatV2 = 3 if edyears==12                // HS 
(205 real changes made) 
 

. replace educcatV2 = 4 if edyears>=13 & edyears<=15  // some college 
(517 real changes made) 
 

. replace educcatV2 = 5 if edyears>=16 & edyears<=24  // college+ 
(135 real changes made) 

. compare educcat educcatV2 
 
                                       ---------- difference ---------- 
                            count      minimum      average     maximum 
----------------------------------------------------------------------- 
educcat=educcatV2            1639 
                       ---------- 
jointly defined              1639            0            0           0 
jointly missing               848 
                       ---------- 
total                        2487 

educcatV2

Example of preparing data

wflec-add-data-russia1-controls.do
o

wflec-add-data-russia2-binary.do
o

wflec-add-data-russia3-noneutral.do
o

wflec-add-data-russia4-analysisvars.do
o

wflec-add-data-russia1-controls.do

. use wf-russia01, replace 
(Workflow data to illustrate creating variables | 2008-04-02) 
. datasignature confirm 
  (data unchanged since 02apr2008 13:29) 

gender

gen female = gender - 1 
label var female "Female?" 
label def female 0 0_male 1 1_female 
label val female female 
note female: based on gender | `tag' 

. tab gender female, miss 
  
       Gender: | 
       1=male, |        Female? 
      2=female |    0_male   1_female |     Total 
---------------+----------------------+---------- 
       1. Male |       695          0 |       695 
     2. Female |         0      1,103 |     1,103 
---------------+----------------------+---------- 
         Total |       695      1,103 |     1,798 

male
gen male = 1 – female 

 label var male "Male?" 
 label def male 1 1_male 0 0_female 
 label val male male 
 note male: `tag' 



recode
. recode marstat (1 2 3 4=1) (5=0), gen(married) 
(848 differences between marstat and married) 
. label def married 1 1_married 0 0_never 
. label val married married 
. label var married "Ever married?" 
. note married: recoding of marstat | married includes /// 
    married, widowed, divorced, separated | `tag' 
 
. tab marstat married, miss 
 
    Marital |          Ever married? 
     status |   0_never  1_married         .b |     Total 
------------+---------------------------------+---------- 
  1_married |         0        931          0 |       931 
  2_widowed |         0        321          0 |       321 
 3_divorced |         0        215          0 |       215 
4_separated |         0         33          0 |        33 
   5_single |       279          0          0 |       279 
         .b |         0          0         19 |        19 
------------+---------------------------------+---------- 
      Total |       279      1,500         19 |     1,798 

recode edlevel (1 2 3 4 5=0)(6 7=1)(99=.n), gen(hidegree) 
label var hidegree "Any higher education?" 
label def hidegree 0 0_not 1 1_high_ed 
label val hidegree hidegree 
note hidegree: recode of edlevel | `tag' 
tab edlevel hidegree, miss 
 
recode empstat (1 7=1)(2 3 5 6 8 9 10=0)(98=.d)(99=.n), gen(fulltime) 
label def fulltime 1 1_fulltime 0 0_not 
label val fulltime fulltime 
label var fulltime "Ever worked full time?" 
note fulltime: /// 
recoding  empstat; includes fulltime & retired | `tag' 

tab empstat fulltime, miss 

. codebook female-fulltime, compact 
 
Variable    Obs Unique      Mean  Min  Max  Label                     
-------------------------------------------------------------------- 
female     1798      2  .6134594    0    1  Female? 
male       1798      2  .3865406    0    1  Male? 
married    1779      2  .8431703    0    1  Ever married? 
hidegree   1795      2  .2250696    0    1  Any higher education? 
fulltime   1765      2  .7852691    0    1  Ever worked full time? 

. local savename wf-russia02.dta 

. sort id 

. quietly compress 

. label data "`savename' | Russia add controls | `dte'" 

. note: `savename' / `tag' 

. datasignature set, reset 
  1798:19(15177):591800297:459057199       (data signature reset) 
. save `savename', replace 
file wf-russia02.dta saved 

 

. use `savename', clear 
(wf-russia02.dta | Russia add controls | 2017-06-19) 
. datasignature confirm 
  (data unchanged since 19jun2017 12:38) 
 
. notes 
 
_dta: 
  1.  wf-russia01.dta \ wf-isspru01.dta \ wf-russia01-support.do 
      jsl 2008-04-02. 
  2.  wf-russia02.dta / wflec-add-data-russia1.do Scott Long  
      2017-06-19 
::: snip ::: 
female: 
  1.  based on gender / wflec-add-data-russia1.do Scott Long  
      2017-06-19 
male: 
  1.  based on gender / wflec-add-data-russia1.do Scott Long  
      2017-06-19 
::: snip ::: 
  

cf

. cf _all using wf-russia01 
          female:  does not exist in using 
            male:  does not exist in using 
         married:  does not exist in using 
        hidegree:  does not exist in using 
        fulltime:  does not exist in using 
r(9); 

cf
    capture noisily cf _all using wf-russia01

wflec-add-data-russia2-binary.do

. use wf-russia02, clear 
(wf-russia02.dta | Russia add controls | 2017-06-19) 
 
. datasignature confirm 
  (data unchanged since 19jun2017 12:38) 

. codebook momwarm kidsuffer famsuffer wanthome housesat workbest, compact 
 
Variable    Obs Unique      Mean  Min  Max  Label 
------------------------------------------------------------------------------ 
momwarm    1765      5  2.324646    1    5  Working mom can have warm relat... 
kidsuffer  1755      5  2.373789    1    5  Pre-school child suffers? 
famsuffer  1759      5  2.401933    1    5  Family life suffers? 
wanthome   1717      5  2.639487    1    5  Women really want is home & kids? 
housesat   1680      5  2.855357    1    5  Housework satisfies like paid job? 
workbest   1710      5  2.071345    1    5  Work best for women's independe... 
------------------------------------------------------------------------------ 



. tab1 momwarm, miss 
 
-> tabulation of momwarm 
 
   Working mom | 
 can have warm | 
   relations w | 
         kids? |      Freq.     Percent        Cum. 
---------------+----------------------------------- 
      1StAgree |        464       25.81       25.81 
        2Agree |        712       39.60       65.41 
      3Neither |        197       10.96       76.36 
     4Disagree |        336       18.69       95.05 
   5StDisagree |         56        3.11       98.16 
a_Can't choose |         26        1.45       99.61 
     b_Refused |          7        0.39      100.00 
---------------+----------------------------------- 
         Total |      1,798      100.00 

momwarm workbest
kidsuffer famsuffer wanthome housesat

. pwcorr momwarm kidsuffer famsuffer wanthome housesat workbest, obs 
 
             |  momwarm kidsuf~r famsuf~r wanthome housesat workbest 
-------------+------------------------------------------------------ 
     momwarm |   1.0000 
             |     1765 
             | 
   kidsuffer |  -0.2494   1.0000 
             |     1736     1755 
             | 
   famsuffer |  -0.2517   0.5767   1.0000 
             |     1737     1738     1759 
             | 
    wanthome |  -0.1069   0.2357   0.2977   1.0000 
             |     1698     1688     1698     1717 
             | 
    housesat |  -0.0148   0.1465   0.1921   0.4133   1.0000 
             |     1664     1657     1662     1649     1680 
             | 
    workbest |   0.0624  -0.0220  -0.0717  -0.1369  -0.2019   1.0000 
             |     1691     1684     1690     1659     1636     1710 

label def Lagree 1 1_agree 0 0_not .a a_Unsure  /// 
    .b b_Refused .n n_Neutral 

label def Lprowork 1 1_yesPos0 0_noNeg .a a_Unsure  /// 
    .b b_Refused .n n_Neutral 

momwarm
3=.

. * momwarm: 1=SA working mom can have warm relationship 

. * Bwarm:   1=agree (not reversed) 

. recode momwarm (1/2=1) (4/5=0) (3=.n), gen(Bwarm) 
(1301 differences between momwarm and Bwarm) 
 
. label var Bwarm "Working mom can have warm relations?" 
. label val Bwarm Lprowork 
. note Bwarm: 3=neutral in source was coded .n | `tag' 

. tab Bwarm momwarm, miss 
 
   Working | 
   mom can | 
 have warm |      Working mom can have warm relations w kids? 
relations? |  1StAgree     2Agree   3Neither  4Disagree  5StDisagr |     Total 
-----------+-------------------------------------------------------+---------- 
   0_noNeg |         0          0          0        336         56 |       392 
  1_yesPos |       464        712          0          0          0 |     1,176 
  a_Unsure |         0          0          0          0          0 |        26 
 b_Refused |         0          0          0          0          0 |         7 
 n_Neutral |         0          0        197          0          0 |       197 
-----------+-------------------------------------------------------+---------- 
     Total |       464        712        197        336         56 |     1,798 
 
   Working | Working mom can have 
   mom can |   warm relations w 
 have warm |         kids? 
relations? | a_Can't c  b_Refused |     Total 
-----------+----------------------+---------- 
   0_noNeg |         0          0 |       392 
  1_yesPos |         0          0 |     1,176 
  a_Unsure |        26          0 |        26 
 b_Refused |         0          7 |         7 
 n_Neutral |         0          0 |       197 
-----------+----------------------+---------- 
     Total |        26          7 |     1,798  

local vin  momwarm 
local vout Bwarm 
 
recode `vin' (1/2=1)(4/5=0)(3=.n), gen(`vout') 
label var `vout' "Working mom can have warm relations?" 
label val `vout' Lprowork 
note `vout': 3=neutral in source was coded .n | `tag' 
tab `vout' `vin', miss 

workbest
local vin  workbest 
local vout Bindep 
gen `vout' = `vin' 
label var `vout' "Agree work creates independence?" 
recode `vout' (1/2=1)(4/5=0)(3=.n) 
note `vout': 3=neutral in source was coded .n | `tag' 
tab `vin' `vout', miss 

. pwcorr B*, obs 
 
             |    Bwarm    Bkids  Bfamily  Bnohome  Bjobsat   Bindep 
-------------+------------------------------------------------------ 
       Bwarm |   1.0000 
             |     1568 
             | 
       Bkids |   0.2351   1.0000 
             |     1311     1483 
             | 
     Bfamily |   0.2289   0.5775   1.0000 
             |     1314     1312     1481 
             | 
     Bnohome |   0.1382   0.2327   0.2850   1.0000 
             |     1208     1157     1161     1352 
             | 
     Bjobsat |   0.0396   0.1446   0.1672   0.4659   1.0000 
             |     1119     1071     1071     1033     1248 
             | 
      Bindep |   0.0345   0.0185   0.0546   0.1048   0.1538   1.0000 
             |     1279     1217     1211     1122     1058     1438 



. local savename wf-russia03.dta 

. sort id 

. quietly compress 

. label data "`savename' | Russia adding example step 2 | `dte'" 

. note: `savename' / `tag' 

. datasignature set, reset 
  1798:25(35160):2565153827:1461624542     (data signature reset) 
 
. capture noisily cf _all using wf-russia02.dta 
           Bwarm:  does not exist in using 
           Bkids:  does not exist in using 
         Bfamily:  does not exist in using 
         Bnohome:  does not exist in using 
         Bjobsat:  does not exist in using 
          Bindep:  does not exist in using 

 

wflec-add-data-russia3-noneutral.do

. use wf-russia03.dta, replace 
(wf-russia03.dta | Russia adding example step 2 | 2017-06-19) 
. datasignature confirm 
  (data unchanged since 19jun2017 12:44) 
 
. label def Lsa_sd 1 1_SA_Pos 2 2_A_Pos 3 3_D_Neg /// 
>     4 4_SD_Neg .a a_Unsure .b b_Refused .n n_Neutral 

. * momwarm: 1=SA working mom can have warm relationship 

. * C4warm:  1=SA (not reversed) 

. local vin momwarm 

. local vout C4warm 

 

. * momwarm: 1=SA working mom can have warm relationship 

. * C4warm:  1=SA (not reversed) 

. local vin momwarm 

. local vout C4warm 
 
. recode `vin' (1=1) (2=2) (3=.n) (4=3) (5=4), gen(`vout') 
(589 differences between momwarm and C4warm) 
. label var `vout' "Working mom can have warm relations?" 
. label val `vout' Lsa_sd 
. note `vout': 3=neutral in source was coded .n | `tag' 
. tab `vin' `vout', m 
 
   Working mom | 
 can have warm | 
   relations w |    Working mom can have warm relations? 
         kids? |  1_SA_Pos    2_A_Pos    3_D_Neg   4_SD_Neg |     Total 
---------------+--------------------------------------------+---------- 
      1StAgree |       464          0          0          0 |       464 
        2Agree |         0        712          0          0 |       712 
      3Neither |         0          0          0          0 |       197 
     4Disagree |         0          0        336          0 |       336 
   5StDisagree |         0          0          0         56 |        56 
a_Can't choose |         0          0          0          0 |        26 
     b_Refused |         0          0          0          0 |         7 
---------------+--------------------------------------------+---------- 
         Total |       464        712        336         56 |     1,798 

 

   Working mom | 
 can have warm |    Working mom can have warm 
   relations w |            relations? 
         kids? |  a_Unsure  b_Refused  n_Neutral |     Total 
---------------+---------------------------------+---------- 
      1StAgree |         0          0          0 |       464 
        2Agree |         0          0          0 |       712 
      3Neither |         0          0        197 |       197 
     4Disagree |         0          0          0 |       336 
   5StDisagree |         0          0          0 |        56 
a_Can't choose |        26          0          0 |        26 
     b_Refused |         0          7          0 |         7 
---------------+---------------------------------+---------- 
         Total |        26          7        197 |     1,798 

pwcorr C4* C4

. pwcorr C4*, obs 
             |   C4warm   C4kids C4family C4nohome C4jobsat  C4indep 
-------------+------------------------------------------------------ 
      C4warm |   1.0000 
             |     1568 
             | 
      C4kids |   0.1942   1.0000 
             |     1311     1483 
 snip   

. * through stem of variables 

. foreach s in warm kids family nohome jobsat indep { 
 

.        * correlate the B and C4 version of the stem 
  2.     pwcorr B`s' C4`s', obs 
  3. } 
 

             |    Bwarm   C4warm 
-------------+------------------ 
       Bwarm |   1.0000 
             |     1568 
             | 
      C4warm |  -0.8239   1.0000 
             |     1568     1568 
 

             |    Bkids   C4kids 
-------------+------------------ 
       Bkids |   1.0000 
             |     1483 
             | 
      C4kids |  -0.8114   1.0000 
             |     1483     1483 

. local savename wf-russia04.dta 

. sort id 

. quietly compress 
 
. label data "`savename' | Russia adding example step 3 | `dte'" 
. note: `savename' / `tag' 
. datasignature set, reset 
  1798:31(64962):3525882739:3285584125       (data signature 
reset) 
. save `savename', replace 
file wf-russia04.dta saved 
 
. capture noisily cf _all using wf-russia03.dta 
          C4warm:  does not exist in using 
          C4kids:  does not exist in using 
        C4family:  does not exist in using 
        C4nohome:  does not exist in using 
        C4jobsat:  does not exist in using 
         C4indep:  does not exist in using 

Find a better way to compute the correlations.



wflec-add-data-russia4-analysisvars.do
capture log close 
log using wflec-add-data-russia4-analysis, replace text 
version 13.1 
clear all 
set linesize 80 
macro drop _all 
set scheme s1manual 
 
//  Reproducible results example: adding variables - russia step 1 
//  Data revisions during analysis 
 
local pgm wflec-add-data-russia4 
local dte 2017-06-19 
local who Scott Long 
local tag "`pgm'.do `who' `dte'" 
 
//  #1 load data 
 
use wf-russia04, replace 
datasignature confirm 
 
//  #2 dataset revisions during for analysis 
 
gen agesq = age*age 
lab var agesq "age*age" 
note agesq: `tag' 
 

//  #3 cleanup and save 
 
local savename wf-russia05.dta 
sort id 
quietly compress 
label data "`savename' | Russia adding example step 4 | `dte'" 
note: `savename' / `tag' 
datasignature set, reset 
save `savename', replace 
 
codebook, compact 
 
//  #5 check the changes 
 
capture noisily cf _all using wf-russia04.dta 
 
log close 
exit 
 
 
  

wflec-add-data-russia0-master.do
//  Reproducible results example: adding variables 
//  Russian data master do-file Scott Long 2017-06-19 
 
do wflec-add-data-russia1-controls.do 
do wflec-add-data-russia2-binary.do 
do wflec-add-data-russia3-noneutral.do 
do wflec-add-data-russia4-analysisvars.do 
 
exit 

 

Adding variables during analysis

Part 17*: Importing data

o
o
o

Data formats

ASCII data formats 



Binary data formats 

Warnings

Stata commands for ASCII formats
insheet

infile

infix

import export

Importing free format ASCII (wf6 import.do)

. insheet using wf6-import-free.txt, clear 
(14 vars, 1798 obs) 
. list vid-vempstat in 1/5, clean 
 
           vid   vsex   vage   vmarstat   vedyears   vedlevel   vempstat 
  1.   1800001      2     29          1         13          5          8 
  2.   1800002      2     38          1         17          7          1 
  3.   1800003      2     32          1         14          5          2 
  4.   1800004      1     20          5         14          6          1 
  5.   1800005      2     47          2         10          5          1 

Importing SAS XPORT files
fdause

fdause wf6-import-fdause.xpt, clear 

fdause

Importing odbc files: rare

odbc

Importing XML data: rare
xmluse

xmlsave



Use statistical packages to export data

o
o

Using a data conversion program

Verifying data conversion

Step 1: Compare statistics from source and destination

Step 2: Examine the missing values

tab1 , missing

Step 3: Convert the data two ways

cf

Example: Converting the ISSP 2002 data from Russia

Step 1: Examining the data in SPSS 
04106-0001-Data.por

v3
wf6-isspru-

spss01.sav



Step 2: Converting data to Stata format 
wf6-isspru-sttr01.dta

04106-0001-data.por  wf6-isspru-
spss01.sav

o

wf6-isspru-
sttr01.dta

o
o

Step 3: Verifying the transfer 
codebook

  . codebook, compact 
 
  Variable  Obs Unique      Mean      Min      Max  Label 
  ---------------------------------------------------------------------------------------- 
  V1       1798      1      3880     3880     3880  ZA Study Number 
  V2       1798   1798   1800900  1800001  1801798  Respondent Number 
  V3       1798      1        18       18       18  Country 
  V4       1765      5  2.324646        1        5  Workg mom: warm relation child ok 
  V5       1755      5  2.373789        1        5  Workg mom: pre school child suffers 
  V6       1759      5  2.401933        1        5  Workg woman: family life suffers 
  V7       1717      5  2.639487        1        5  What women really want is home & kids 
  V8       1680      5  2.855357        1        5  Household satisfies as much as paid job 
  V9       1710      5  2.071345        1        5  Work is best for womens independence 
  V10      1773      5  2.003948        1        5  Both should contribute to hh income 
  V11      1772      5  2.401806        1        5  Mens job is work,womens job household 

tab1

-> tabulation of V4 
 
  Workg mom: warm relation | 
            child ok       |      Freq.     Percent        Cum. 
---------------------------+----------------------------------- 
            Strongly agree |        464       25.81       25.81 
                     Agree |        712       39.60       65.41 
Neither agree nor disagree |        197       10.96       76.36 
                  Disagree |        336       18.69       95.05 
         Strongly disagree |         56        3.11       98.16 
                        .c |         26        1.45       99.61 
                        .n |          7        0.39      100.00 
---------------------------+----------------------------------- 
                     Total |      1,798      100.00 

V239
-> tabulation of V239 
 
  R: Current employment | 
status                  |      Freq.     Percent        Cum. 
------------------------+----------------------------------- 
     Employed-full time |        855       47.55       47.55 
     Employed-part time |         87        4.84       52.39 
       Empl-< part-time |         35        1.95       54.34 
             Unemployed |         69        3.84       58.18 
Studt,school,vocat.trng |         59        3.28       61.46 
                Retired |        531       29.53       90.99 
  Housewife,home duties |         72        4.00       94.99 
   Permanently disabled |         34        1.89       96.89 
 Oth,not i labour force |         23        1.28       98.16 
                     .a |         33        1.84      100.00 
------------------------+----------------------------------- 
                  Total |      1,798      100.00 

.a



wf6-
isspru-sttr02.dta

-> tabulation of V239 
 
  R: Current employment | 
      status            |      Freq.     Percent        Cum. 
------------------------+----------------------------------- 
     Employed-full time |        855       47.55       47.55 
     Employed-part time |         87        4.84       52.39 
       Empl-< part-time |         35        1.95       54.34 
             Unemployed |         69        3.84       58.18 
Studt,school,vocat.trng |         59        3.28       61.46 
                Retired |        531       29.53       90.99 
  Housewife,home duties |         72        4.00       94.99 
   Permanently disabled |         34        1.89       96.89 
 Oth,not i labour force |         23        1.28       98.16 
              Dont know |          3        0.17       98.33 
                     Na |         30        1.67      100.00 
------------------------+----------------------------------- 
                  Total |      1,798      100.00 

-> tabulation of V239 
 
 R: Current | 
 employment | 
     status |      Freq.     Percent        Cum. 
------------+----------------------------------- 
          1 |        855       47.55       47.55 
          2 |         87        4.84       52.39 
          3 |         35        1.95       54.34 
          5 |         69        3.84       58.18 
          6 |         59        3.28       61.46 
          7 |        531       29.53       90.99 
          8 |         72        4.00       94.99 
          9 |         34        1.89       96.89 
         10 |         23        1.28       98.16 
         98 |          3        0.17       98.33 
         99 |         30        1.67      100.00 
------------+----------------------------------- 
      Total |      1,798      100.00 

Summary

Part 18: Data analysis

Overview

o
o

Planning analysis

o
o

o
o
o

o
o
o
o



Planning and organization

Plan tables and graphs

t
Tenure
Year

Selectivity
Articles
Prestige

Planning and Collaboration

o

Planning in the small

o

o

o
logit ztp hhplogit

Dangers

One way to approach analysis

1 2 3 4 5
Set 1: Y Y Y Y Y
Set 2: Y Y Y Y N

Set 32: N N N N N
4.

o

o

Baseline statistics

Example of baseline statistics

 

//  #1 load data and select sample 
 
. use wf-tenure, clear 
(Workflow data for gender differences in tenure | 2008-04-02) 
. datasignature confirm 
  (data unchanged since 02apr2008 13:29) 

 



 
. tabulate sampleis 
 

 Sample for | 
     tenure | 
   analysis |      Freq.     Percent        Cum. 
------------+----------------------------------- 
      0_Not |        148        5.03        5.03 
 1_InSample |      2,797       94.97      100.00 
------------+----------------------------------- 
      Total |      2,945      100.00 
 
* select analysis sample 
. keep if sampleis 
(148 observations deleted) 

 

. //  #2 desc statistics for men & women combined 
 
. codebook female male tenure year yearsq select articles prestige, compact 
 
Variable    Obs Unique      Mean  Min  Max  Label 
---------------------------------------------------------------------------- 
female     2797      2  .3775474    0    1  Scientist is female? 
male       2797      2  .6224526    0    1  Is male? 

tenure     2797      2  .1229889    0    1  Is tenured? 
year       2797     10  3.855917    1   10  Years in rank 
yearsq     2797     10  20.16911    1  100  Years in rank squared 
select     2797      8  4.995048    1    7  Baccalaureate selectivity 
articles   2797     48  7.050411    0   73  Total number of articles 
prestige   2797     98  2.646591  .65  4.8  Prestige of department 
---------------------------------------------------------------------------- 

//  #3 desc statistics for women 
 
codebook female male tenure year yearsq select articles prestige /// 
    if female, compact 
 
//  #4 desc statistics for men 
 
codebook female male tenure year yearsq select articles prestige /// 
    if male, compact 

 

Baseline statistics in analysis files

analysisvars
 local analysisvars female male tenure year /// 
  yearsq select articles prestige 

codebook `analysisvars’, compact 

Pavalko, Gong, and Long 2007

o
o
o

The CWH middle plan 
o
o

o

o

o



o

o

Howmany do files?

Why short do files

o

o
o

o
o

o

o
o

o
o
o

Using master do files
do

swb-all.do
capture log close master 
log using swb-all, name(master) replace text 
 
//  program:    swb-all.do 
//  task:       swb | may 2007 analyses 
//  project:    workflow - chapter 7 
//  author:     jsl | 2007-03-08 
//  note:       all programs required swb-00-loaddata.doi 
 
// Task 01: descriptive statistics and data checking 
do swb-01a-desc.do 
do swb-01b-descmisc.do 
do swb-01c-barchart.do 
 
// Task 02: logit - sexual relationships 
do swb-02aV2-srlogit.do 
do swb-02b-srlogit-checkage.do 
do swb-02c-srlogit-ageplot.do 

// Task 03: logit - own sexuality 
do swb-03a-os2logit.do 
do swb-03b-os2Vos1logit.do 
 
// Task 04: logit - self attractiveness 
do swb-04a-salogit.do 
 
// Task 05: logit - miscellaneous 
do swb-05a-sr-os2-cor.do 
 
log close master 
exit 

do swb-all 

capture log close master 
log using swb-all, name(master) replace text 
 
//  program:    swb-all.do 
//  task:       swb | may 2007 analyses 
//  project:    workflow - chapter 7 
//  author:     jsl | 2008-03-07 
//  note:       all programs include swb-00-loaddata.doi 
 



/* 
  // Task 01: descriptive statistics and data checking 
  do swb-01a-desc.do 
  do swb-01b-descmisc.do 
  do swb-01c-barchart.do 
 

  // Task 02: logit - sexual relationships 
  do swb-02aV2-srlogit.do 
  do swb-02b-srlogit-checkage.do 
  do swb-02c-srlogit-ageplot.do 
*/ 
// Task 03: logit - own sexuality 
do swb-03a-os2logit.do 
do swb-03b-os2Vos1logit.do 
 

// Task 04: logit - self attractiveness 
do swb-04a-salogit.do 
 

// Task 05: logit - miscellaneous 
do swb-05a-sr-os2-cor.do 
 

log close master 
exit 

log

Effectively using long do files

Dual workflow and data analysis
The problem

Solution with dual do file

o
o

o

o

Example of dual workflow during analysis
1st data run: Create wflec-dual.dta identical to the posted dataset 
capture log close 
log using wflec-analysis-dual-stat, replace text 
version 13.1 
clear all 
macro drop _all 
set linesize 80 
set scheme s1manual 
 

//  Reproducible results example: analysis using dual workflow 
//  1st run - analysis with original variables 
 

local pgm wflec-analysis-dual-stat 
local who Scott Long 
local dte 2017-06-19 
local tag "`pgm'.do `who' `dte'" 
 

//  #1 load current version of dataset 
 

use wflec-dual 
datasignature confirm 
codebook, compact 
 

//  #2 analysis using log of wages 
 

logit lfp lwg k5 wc 
 

//  #3 analysis using wages - which is not in use wf-lec 
 

log close 
exit 

1st stat run: Unposted analysis program using wflec-dual
capture log close 
log using wflec-analysis-dual-stat, replace text 
version 13.1 
clear all 
macro drop _all 
set linesize 80 
set scheme s1manual 
 

//  Reproducible results example: analysis using dual workflow 
//  1st run - analysis with original variables 
 

local pgm wflec-analysis-dual-stat 
local who Scott Long 
local dte 2017-06-19 
local tag "`pgm'.do `who' `dte'" 
 

//  #1 load current version of dataset 
 

use wflec-dual 
datasignature confirm 
codebook, compact 
 

//  #2 analysis using log of wages 
 

logit lfp lwg k5 wc 
 

//  #3 analysis using wages - which is not in use wf-lec 
 

log close 
exit 

2nd data run: Add wages to wflec-dual
capture log close 
log using wflec-analysis-dual-data, replace text 
version 13.1 
clear all 
macro drop _all 
set linesize 80 
set scheme s1manual 
 

//  Reproducible results example: analysis using dual workflow 
//  2nd run : add wages 
 



local pgm wflec-analysis-dual-data 
local who Scott Long 
local dte 2017-06-19 
local tag "`pgm'.do `who' `dte'" 
 

//  #1 load current version of dataset 
 

use wf-lfp 
datasignature confirm 
codebook, compact 
 

//  #2 create new variables here if they are needed 
 

gen wages = log(lwg) if !missing(lwg) 
label var wages "wages unlogged" 
note wages: `tag' 
sum lwg wages 
scatter lwg wages 
graph export `pgm'-wagecheck.png, replace 
 

//  #3 save the version of the dataset used in analysis do-files 
 

local savename "wflec-dual.dta" 
compress 
label data "dual of wf-lfp to use during analysis | `dte'" 
note: `savename' / `tag' / updated dataset during data analysis 
datasignature set, reset 

save `savename', replace 
notes 
log close 
exit 

2nd stat run: analysis of wages using wflec-dual
capture log close 
log using wflec-analysis-dual-stat, replace text 
version 13.1 
clear all 
macro drop _all 
set linesize 80 
set scheme s1manual 
 

//  Reproducible results example: analysis using dual workflow 
//  2nd run - analysis with added variable 
 

local pgm wflec-analysis-dual-stat 
local who Scott Long 
local dte 2017-06-19 
local tag "`pgm'.do `who' `dte'" 
 

//  #1 load current version of dataset 
 

use wflec-dual 
datasignature confirm 

codebook, compact 
 

//  #2 analysis using log of wages 
 

logit lfp lwg k5 wc 
estimates store lfplwg 
 

//  #3 analysis using wages - which is not in wf-lfp 
 

logit lfp wages k5 wc 
estimates store lfpwages 
 

estimates table lfplwg lfpwages 
 

log close 
exit 
 

 

Dual workflow with multiple analyses

data01.do => cwh01.dta  desc01a.do    uses cwh01.dta 
 
data02.do => cwh02.dta  desc01b.do    uses cwh02.dta 
        desc02.do    uses cwh02.dta 
        compare01a.do   uses cwh02.dta 
 
data03.do => cwh03.dta  compare01a1.do  uses cwh03.dta 
        compare021.do   uses cwh03.dta 
        logit01V2.do   uses cwh03.dta 
 
data04.do => cwh04.dta  logit02.do    uses cwh04.dta with  
               no new variables. 
data04.do => cwh04.dta  logit03.do    uses cwh04.dta with  
             new variable 
        logit04.do    uses cwh04.dta 

data04.do cwh04.dta
logit02.do logit03.do

cwh04.dta

Temporary variables

o

o

Adding age squared

logit lfp lwg k5 i.wc c.age##c.age, nolog 
 

tempvar agesq 
gen `agesq' = age*age 
label var `agesq' "tempvar: age-squared" 
logit lfp lwg k5 i.wc age `agesq', nolog 
 

gen agesq = age*age 
label var agesq "bad idea! age-squared" 
logit lfp lwg k5 i.wc age agesq, nolog 
 

 



Documentation of data analysis Project diary
Diary and do-files 

o
o

Project diary and results 

Old example of analysis project diary
First complete set of analysis for FLIM measures paper 
 

f2alt01a.do - 24May2002 
  Descriptive information on all rhs, lhs, and flim measures 
f2alt01b.do - 25May2002 
  Compute bic’ for each of four outcomes and all flim measures.
   **  Outcome: Can Work                   global lhs "qcanwrk95" 
   **  Outcome: Work in three categories   global lhs "dhlthwk95" 
   **  Outcome: bath trouble               global lhs "bathdif95" 
   **  Outcome: adlsum95 - sum of adls     global lhs "adlsum95" 
f2alt01c.do - 25May2002 
  Compute bic’ for each of four outcomes and with only these restricted flim 
measures.
   *     1.  ln(x+.5) and ln(x+1) 
   *     2.   9 counts: >=5=5  >=7=7  (50% and 75%) 
   *     3.   8 counts: >=4=4  >=6=6  (50% and 75%) 
   *     4.   18 counts: >=9=9 >=14=14  (50% and 75%) 
   *     5.   probability splits at .5; these don't work well in prior tests 
f2alt01d.do - 25May2002 
  bic’ for all four outcomes in models that include all raw flim measures 
(fla*p5; fll*p5); 
  pairs of u/l measures; groups of LCA measures 
f2alt01e.do - all LCA probabilities - 25May2002 

:::

Newer style of project diary
First complete set of analysis for FLIM measures paper 
 
2002-05-24: model flims as a count 
 
f2alt01a.do – desc stats 
f2alt01b.do – bic to compare models for four outcomes 
 
2002-05-25 

f2alt01c.do - model with restricted flim measures
f2alt01d.do – model with raw flim measures 
f2alt01e.do – LCA of flims 

:::

Automation in data analysis
Why automation?

Example

Locals to define sets of variables

//  #2 desc statistics for men & women combined 
codebook female tenure year yearsq select articles prestige, compact 
 
//  #3 desc statistics for women 
codebook female tenure year yearsq select articles prestige /// 
    if female, compact 
 
//  #4 desc statistics for men 
codebook female tenure year yearsq select articles prestige /// 
    if male, compact 

yearsq

local varset female tenure year yearsq select articles prestige 
 
//  #5 desc statistics for men & women combined 
codebook `varset', compact 

  
//  #6 desc statistics for women 
codebook `varset' if female, compact 
 
//  #7 desc statistics for men 
codebook `varset' if male, compact  



Links among models

 
//  baseline gender only model 
logit tenure female 

  
//  time 
logit tenure female year yearsq 

  
//  department 
logit tenure female year yearsq select prestige 

  
//  productivity 
logit tenure female year yearsq select prestige articles 

 

local Vtime "year yearsq"      // time in rank 
local Vdept "select prestige"  // characteristics of departments 
local Vprod "articles"         // research productivity 

//  baseline gender only model 
logit tenure female 
 
//  + time 
logit tenure female `Vtime' 
 
//  + department 
logit tenure female `Vtime' `Vdept' 
 
//  + productivity 
logit tenure female `Vtime' `Vdept' `Vprod' 

local Vtime "year yearsq yearcu" // time in rank 
local Vprod "articles citations" // research productivity 

logit

Nested models with a loop 

local Vtime "year yearsq"      // time in rank 
local Vdept "select prestige"  // characteristics of departments 
local Vprod "articles"         // research productivity 
 
local model1 female 
local model2 `model1' `Vtime' 
local model3 `model2' `Vdept' 
local model4 `model3' `Vprod' 
 
foreach number in 1 2 3 4 { 
    logit tenure `model`number''  // N.B. '' not ' 
} 

foreach varset in Vfem Vtime Vdept Vprod { 
    local rhsvars "`rhsvars' ``varset''" // N.B. `` and '' 
    logit tenure `rhsvars' 
} 

Computing t tests with loops

. ttest tenure, by(female) 
 
Two-sample t test with equal variances 
------------------------------------------------------------------------------ 
   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval] 
---------+-------------------------------------------------------------------- 
  0_Male |    1741    .1315336    .0081025    .3380801    .1156419    .1474253 
1_Female |    1056    .1089015    .0095908    .3116632    .0900824    .1277207 
---------+-------------------------------------------------------------------- 
combined |    2797    .1229889    .0062111    .3284832    .1108102    .1351677 
---------+-------------------------------------------------------------------- 
    diff |            .0226321    .0128075                -.002481    .0477451 
------------------------------------------------------------------------------ 
    diff = mean(0_Male) - mean(1_Female)                          t =   1.7671 
Ho: diff = 0                                     degrees of freedom =     2795 
 
    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0 
 Pr(T < t) = 0.9613         Pr(|T| > |t|) = 0.0773          Pr(T > t) = 0.0387 

ttest year,     by(female) 
ttest select,   by(female) 
ttest articles, by(female) 
ttest prestige, by(female) 

local varlist "tenure year select articles prestige" 
foreach var in `varlist' { 
    ttest `var', by(female) 
} 

ttest
Two-sample t test with equal variances 
------------------------------------------------------------------------------ 
   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval] 
  0_Male |    1741    .1315336    .0081025    .3380801    .1156419    .1474253 
1_Female |    1056    .1089015    .0095908    .3116632    .0900824    .1277207 
combined |    2797    .1229889    .0062111    .3284832    .1108102    .1351677 
    diff |            .0226321    .0128075                -.002481    .0477451 
------------------------------------------------------------------------------ 
    diff = mean(0_Male) - mean(1_Female)                          t =   1.7671 
Ho: diff = 0                                     degrees of freedom =     2795 
 
    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0 
 Pr(T < t) = 0.9613         Pr(|T| > |t|) = 0.0773          Pr(T > t) = 0.0387 

foreach var in `varlist' { 
    di _new ". ttest `var', by(female)" 
    ttest `var', by(female) 
} 

. ttest tenure, by(female) 
 

Two-sample t test with equal variances 
------------------------------------------------------------------------- 
 Group |   Obs      Mean    Std. Err.   Std. Dev.   [95% Conf. Interval] 
-------+----------------------------------------------------------------- 



Loops for alternative model specifications

1:   local artvars "" 
 
2:   forvalues root = 1(1)9 { 
 
3:       gen art_root`root' = articles^(1/`root') 
4:       label var art_root`root' "articles^(1/`root')" 
 
5:       * accumulate list of variable names 
6:       local artvars "`artvars' art_root`root'" 
 
7:   } 

foreach avar in `artvars' { 
    di _new "== logit with `avar'" 
    logit tenure `avar' female year yearsq select prestige 
} 

Advanced: Collecting statistics

Collecting t tests

t
Tenure
Year

Selectivity
Articles
Prestige

ttest
. ttest tenure, by(female) 
 
Two-sample t test with equal variances 
------------------------------------------------------------------------------ 
   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval] 
---------+-------------------------------------------------------------------- 
  0_Male |    1741    .1315336    .0081025    .3380801    .1156419    .1474253 
1_Female |    1056    .1089015    .0095908    .3116632    .0900824    .1277207 
---------+-------------------------------------------------------------------- 
combined |    2797    .1229889    .0062111    .3284832    .1108102    .1351677 
---------+-------------------------------------------------------------------- 
    diff |            .0226321    .0128075                -.002481    .0477451 
------------------------------------------------------------------------------ 
    diff = mean(0_Male) - mean(1_Female)                          t =   1.7671 
Ho: diff = 0                                     degrees of freedom =     2795 
 
    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0 
 Pr(T < t) = 0.9613         Pr(|T| > |t|) = 0.0773          Pr(T > t) = 0.0387 

. return list 
 
scalars: 
                 r(sd) =  .3284832119751412 
               r(sd_2) =  .3116632125613366 
               r(sd_1) =  .3380801147013905 
                 r(se) =  .0128074679461748 

                r(p_u) =  .0386602339087719 
                r(p_l) =  .9613397660912281 
                  r(p) =  .0773204678175438 
                  r(t) =  1.767100751070975 
               r(df_t) =  2795 
               r(mu_2) =  .1089015151515152 
                r(N_2) =  1056 
               r(mu_1) =  .1315336013785181 
                r(N_1) =  1741 

tmatrix
1:  capture matrix drop tmatrix 
 

2:  local varlist "tenure year select articles prestige" 
 

3:  local ncols = 6 
 

4:  matrix vecorig = J(1,`ncols',-999) 
 

5:  matrix colnames vecorig = Wmn Wsd Mmn Msd ttest Prob 

 
 1:  foreach var in `varlist' { 
 
 2:      qui ttest `var', by(female) 
 
 3:      mat myvec = vecorig 
 
 4:      mat myvec[1,1] = r(mu_2) 
 5:      mat myvec[1,2] = r(sd_2) 
 6:      mat myvec[1,3] = r(mu_1) 
 7:      mat myvec[1,4] = r(sd_1) 
 8:      mat myvec[1,5] = r(t) 
 9:      mat myvec[1,6] = r(p) 
 
10:      mat rownames myvec = `var' 
11:      mat tmatrix = nullmat(tmatrix) \ myvec 
 
12:  } 

 

 
. local header "t-tests: men compared to women" 
. matlist tmatrix, title(`header') format(%8.3f) 

t-tests: men compared to women 
 
           |    Wmn      Wsd       Mmn       Msd     ttest    Prob 
-----------+------------------------------------------------------ 
    tenure |  0.109    0.312     0.132     0.338     1.767   0.077 
      year |  3.974    2.380     3.784     2.252    -2.121   0.034 
    select |  5.001    1.475     4.992     1.365    -0.170   0.865 
  articles |  7.415    7.430     6.829     5.990    -2.284   0.022 
  prestige |  2.658    0.765     2.640     0.784    -0.612   0.540 
 

svmat export excel

search frmttable
search estout

putexcel



Collecting nested regressions

 
. //  #1 load data and select sample 
 
. use wf-tenure, clear 
(Workflow data for gender differences in tenure | 2008-04-02) 
. datasignature confirm 
  (data unchanged since 02apr2008 13:29) 
 
. keep if sampleis 
(148 observations deleted) 
 
. //  #2 define groups of variables 
. 
. local Vbase female 
. local Vtime year yearsq      // time in rank 
. local Vdept select prestige  // characteristics of departments 
. local Vprod articles         // research productivity 

 

capture matrix drop matnest 
local rowlist Vbase Vtime Vdept Vprod 
local ncols = 4 
matrix vecorig = J(1,`ncols',-999) 
matrix colnames vecorig = ORfem zfem pfem 
 
local rhs "" // add names of rhs variables below 

 1:  foreach mdl in Vbase Vtime Vdept Vprod { 
 2:      mat myvec = vecorig 
 
  :      * estimate model 
 3:      local rhs "`rhs' ``mdl''" 
 4:      qui logit tenure `rhs' 
 
  :      * get stats and compute pvalue 
 5:      local b = _b[female] // retrieve b for female 
 6:      local or = exp(`b') // compute odds ratio 
 7:      local se = _se[female] // retrieve std error for b 
 8:      local z = `b'/`se' // z-value 
 9:      local pval = 2*(1-normal(abs([`z']))) // pvalue 

 

  :      * save results 
10:      mat myvec[1,1] = `or' 
11:      mat myvec[1,2] = `z' 
12:      mat myvec[1,3] = `pval' 
13:      mat rownames myvec = `mdl' // label row 
14:      mat matnest = nullmat(matnest) \ myvec // stack vector 
 
15:  } 

. //  #4 print results 

. 

. matlist matnest, format(%8.3f) 
 
             |    ORfem      zfem      pfem   
-------------+------------------------------- 
       Vbase |    0.807    -1.764     0.078   
       Vtime |    0.723    -2.511     0.012   
       Vdept |    0.721    -2.520     0.012   
       Vprod |    0.702    -2.678     0.007   

Summary

Part 19: Provenance & presentations

Overview

o

Documenting provenance

o

o .1234567 .1235
.1235

Method 1: Not recommended
o
o

Method 2: Not recommended
o
o



Method 3: My preference in Word

cwhrr-fig03c-hrmemp4.do.

Software: Word and hidden text 

Aside: Hidden text you might regret 

Method 3: My preference in LaTeX

%>> [[ <<% ]]

Provenance in graphs



Graph captions 
twoway (line art_root2 art_root3 art_root4 art_root5 articles, /// 
    lwid(medium) lcol(red orange green blue)), /// 
    ytitle(Number of Publications to the k-th Root) /// 
    yscale(range(0 8.)) legend(pos(11) rows(4) ring(0)) /// 
    caption(`pgm'-with.emf | `tag', size(vsmall)) 
 

  

Provenance and revisions

o
o

Revisions using hidden text

Sharing results for feedback
Add line numbers to shared results

// #3 logit on lfp

o

o



Editing before sharing

o mywork01.log mywork01.logedited
o mywork01.logedited

Effective tables & graphs

General principles for tables & graphs

o

Use templates and exemplars

o

o

o
o

Presenting

o

o

o

Have you ever heard
o

o

o
Have you ever seen
o
o
o
o

If it isn’t your fault
o



Tables that do not work 
 mlogit (N=337): Factor Change in the Odds of occ  
  
 Variable: white (sd=.27642268) 
  
 Odds comparing    | 
 Alternative 1     | 
 to Alternative 2  |      b         z     P>|z|     e^b   e^bStdX 
 ------------------+--------------------------------------------- 
 Menial  -BlueCol  |  -1.23650   -1.707   0.088   0.2904   0.7105 
 Menial  -Craft    |  -0.47234   -0.782   0.434   0.6235   0.8776 
 Menial  -WhiteCol |  -1.57139   -1.741   0.082   0.2078   0.6477 
 Menial  -Prof     |  -1.77431   -2.350   0.019   0.1696   0.6123 
 BlueCol -Menial   |   1.23650    1.707   0.088   3.4436   1.4075 
 BlueCol -Craft    |   0.76416    1.208   0.227   2.1472   1.2352 
 BlueCol -WhiteCol |  -0.33488   -0.359   0.720   0.7154   0.9116 
 BlueCol -Prof     |  -0.53780   -0.673   0.501   0.5840   0.8619 
 Craft   -Menial   |   0.47234    0.782   0.434   1.6037   1.1395 
 Craft   -BlueCol  |  -0.76416   -1.208   0.227   0.4657   0.8096 
 Craft   -WhiteCol |  -1.09904   -1.343   0.179   0.3332   0.7380 
 Craft   -Prof     |  -1.30196   -2.011   0.044   0.2720   0.6978 
 WhiteCol-Menial   |   1.57139    1.741   0.082   4.8133   1.5440 
 WhiteCol-BlueCol  |   0.33488    0.359   0.720   1.3978   1.0970 
 WhiteCol-Craft    |   1.09904    1.343   0.179   3.0013   1.3550 
 WhiteCol-Prof     |  -0.20292   -0.233   0.815   0.8163   0.9455 
 Prof    -Menial   |   1.77431    2.350   0.019   5.8962   1.6331 
 Prof    -BlueCol  |   0.53780    0.673   0.501   1.7122   1.1603 
 Prof    -Craft    |   1.30196    2.011   0.044   3.6765   1.4332 
 Prof    -WhiteCol |   0.20292    0.233   0.815   1.2250   1.0577 
 ---------------------------------------------------------------- 
  
 Variable: ed (sd=2.9464271) 
  
 Odds comparing    | 
 Alternative 1     | 
 to Alternative 2  |      b         z     P>|z|     e^b   e^bStdX 
 ------------------+--------------------------------------------- 
 Menial  -BlueCol  |   0.09942    0.972   0.331   1.1045   1.3404 
 Menial  -Craft    |  -0.09382   -0.962   0.336   0.9105   0.7585 
 Menial  -WhiteCol |  -0.35316   -3.011   0.003   0.7025   0.3533 
 Menial  -Prof     |  -0.77885   -6.795   0.000   0.4589   0.1008 
 BlueCol -Menial   |  -0.09942   -0.972   0.331   0.9054   0.7461 
 BlueCol -Craft    |  -0.19324   -2.494   0.013   0.8243   0.5659 
 BlueCol -WhiteCol |  -0.45258   -4.425   0.000   0.6360   0.2636 
 BlueCol -Prof     |  -0.87828   -8.735   0.000   0.4155   0.0752 
 Craft   -Menial   |   0.09382    0.962   0.336   1.0984   1.3184 
 Craft   -BlueCol  |   0.19324    2.494   0.013   1.2132   1.7671 
 Craft   -WhiteCol |  -0.25934   -2.773   0.006   0.7716   0.4657 
 Craft   -Prof     |  -0.68504   -7.671   0.000   0.5041   0.1329 
 WhiteCol-Menial   |   0.35316    3.011   0.003   1.4236   2.8308 
 WhiteCol-BlueCol  |   0.45258    4.425   0.000   1.5724   3.7943 
 WhiteCol-Craft    |   0.25934    2.773   0.006   1.2961   2.1471 
 WhiteCol-Prof     |  -0.42569   -4.616   0.000   0.6533   0.2853 
 Prof    -Menial   |   0.77885    6.795   0.000   2.1790   9.9228 
 Prof    -BlueCol  |   0.87828    8.735   0.000   2.4067  13.3002 
 Prof    -Craft    |   0.68504    7.671   0.000   1.9838   7.5264 
 Prof    -WhiteCol |   0.42569    4.616   0.000   1.5307   3.5053 
 ---------------------------------------------------------------- 
  
 Variable: exper (sd=13.959364) 

Colors in BW 

Labels that are too small 

graph bar (mean) Mbg (mean) Wbg, over(Vbg, label(labsize(vlarge))) /// 
    legend(label(1 Men) label(2 Women)) /// 
    ytitle("Percent Tenured", size(vlarge)) /// 
   ylab(0(3)15, labsize(large)) legend(label(1 Men) label(2 Women)) /// 
   bar(1,fcolor(gs4)) bar(2,fcolor(gs13)) legend(size(vlarge)) 

A recent example: as intended 

A recent example: as seen pngs that don’t scale 



Tips for papers and presentations
When circulating drafts of papers 

o

o

o

o

Presentations

o
o
o

o
o
o
o

o
o
o
o
o
o

Making tables

o

Save results to csv files 
putexcel

Table making programs in Stata 
esttab outreg

Save results to matrices 
frmttable estout

Stata to Excel: The old way

. matrix list stats, format(%9.3f) 
 
stats[5,6] 
           FemMn   FemSD   MalMn   MalSD  t_test  t_prob 
  tenure   0.109   0.312   0.132   0.338   1.767   0.077 
    year   3.974   2.380   3.784   2.252  -2.121   0.034 
  select   5.001   1.475   4.992   1.365  -0.170   0.865 
articles   7.415   7.430   6.829   5.990  -2.284   0.022 
prestige   2.658   0.765   2.640   0.784  -0.612   0.540 



Stata to Excel: the new way
putexcel

Regression tables with esttab
estimates table

estout esttab

o outreg

Create a table for the nested regressions with esttab 
//  #3a - baseline gender only model 
logit tenure female, nolog or 
eststo 
 
//  #3b + time 
logit tenure female `Vtime', nolog or 
eststo 
 
//  #3c + department 
logit tenure female `Vtime' `Vdept', nolog or 
eststo 

. esttab 
 

                      (1)             (2)             (3) 
                   tenure          tenure          tenure 
------------------------------------------------------------ 
female             -0.215          -0.324*         -0.327* 
                  (-1.76)         (-2.51)         (-2.52) 
 
year                                1.805***        1.818*** 
                                  (11.21)         (11.23) 
 
yearsq                             -0.129***       -0.130*** 
                                  (-9.35)         (-9.35) 
 
select                                              0.141** 
                                                   (3.12) 
 
prestige                                           -0.262** 
                                                  (-3.15) 
 
_cons              -1.887***       -6.927***       -7.002*** 
                 (-26.62)        (-15.59)        (-13.30) 
------------------------------------------------------------ 
N                    2797            2797            2797 
------------------------------------------------------------ 
t statistics in parentheses 
* p<0.05, ** p<0.01, *** p<0.001  

. esttab, eform nostar bic label varwidth(33) /// 
>     title("Table 7.1: WF Example of Jann's esttab Command.") /// 
>     mtitles("Model A" "Model B" "Model C") /// 
>     addnote("Source: wflec-present-tables-esttab.do") 

 
Table 7.1: Workflow Example of Jann's esttab Command. 
------------------------------------------------------------------------ 
                                           (1)          (2)          (3) 
                                       Model A      Model B      Model C 
------------------------------------------------------------------------ 
Scientist is female?                     0.807        0.723        0.721 
                                       (-1.76)      (-2.51)      (-2.52) 
 
Years in rank.                                        6.079        6.161 
                                                    (11.21)      (11.23) 
<snip>  
Baccalaureate selectivity.                                         1.151 
                                                                  (3.12) 
 
Prestige of department.                                            0.770 
                                                                 (-3.15) 
------------------------------------------------------------------------ 
Observations                              2797         2797         2797 
BIC                                     2098.4       1768.7       1767.4 
------------------------------------------------------------------------ 
Exponentiated coefficients; t statistics in parentheses 
Source: wflec-present-tables-esttab.do  



esttab using wf7-estout.tex, eform nostar bic label /// 
    varwidth(33) mtitles("Model A" "Model B" "Model C") /// 
    addnote("Source: wflec-present-tables-esttab.do") 

Graphs in Stata
graph export

graph export

help export

Suggested formats

width()
height()

o
o

Sweat the details

o

o
o

Part 20: Replication
Reproduction of results

o

Reproducing wrong results

o
o
o
o

Replication of results

o
o

o
o
o
o



Paradigm for statistical inference

Multiple tests at 5% level if there is no effect Numbers are identical, but meanings differ

                 Test of       Stepwise 
    Variable |   theory        selection  
-------------+---------------------------- 
         bmi |    1.074***      1.074***   
       white |    0.543***      0.543***   
         age |    1.288***      1.288***   
       agesq |    0.998***      0.998***   
      female |    0.854*        0.854*     
    hsdegree |    0.749***      0.749***   
      weight |    1.004**       1.004**    
       _cons |    0.000***      0.000***   
-------------+---------------------------- 
           N |     8035          8035      
         bic | 7594.215      7594.215      
------------------------------------------ 
       legend: * p<.1; ** p<.05; *** p<.01 

Discovery and verification

lab def Lsample 1 Explore 2 Verify 
qui sum hhid 
local nhalf = round(r(N)/2,1) 
 
// Split 1: first random splitting of sample 
local split 1 
set seed 193211 
gen double _random = runiform() 
lab var _random "uniform random" 
sort _random 
gen sample`split' = 2 
replace sample`split' = 1 in 1/`nhalf' 
lab var sample`split' "split `split' random subsample indicator" 
lab val sample`split' sample 
drop _random 
 

// Split 2: second random splitting of sample 
local split 2 
set seed 19321 // split 2: female versus height 
<snip> 
 

// Split 3: third random splitting of sample 
local split 3 
set seed 192 // split 3: no height weight versus no female 
<snip> 

local rhs "age agesq bmi female height weight hsdegree white" 
 
foreach split in 1 2 3 { // run on three random splits of data 
 
    * stepwise selection with exploration sample  
    stepwise, pe(.05): logit diabetes age agesq bmi female /// 
        height weight hsdegree white if sample`split'==1 
    est store explore`split' 
 
    * stepwise selection with verification sample 
    stepwise, pe(.05): logit diabetes age agesq bmi female /// 
        height weight hsdegree white if sample`split'==2 
    est store verify`split' 
 
    estimates table explore`split' verify`split', /// 
        eform p b(%9.3f) p(%9.2f) title(Randomization split `split') 
 
}  



Comparing results from six subsamples
------------------------------------------------------------------------------ 
         |       Split 1                Split 2                Split 3 
Variable |  explore    verify      explore    verify      explore    verify     
---------+-------------------------------------------------------------------- 
     bmi |  1.067***   1.066***    1.004      1.074***    1.101***   0.971      
   white |  0.518***   0.547***    0.521***   0.543***    0.505***   0.562***   
     age |  1.262***   1.351***    1.324***   1.288***    1.282***   1.341***   
   agesq |  0.999***   0.998***    0.998***   0.998***    0.998***   0.998***   
hsdegree |  0.720***   0.680***    0.662***   0.749***    0.780***   0.650***   
  weight |  1.006***   1.006***    1.016***   1.004**                1.022***   
  height |                         0.936**                           0.909***   
  female |                                    0.854*      0.733***              
   _cons |  0.000***   0.000***    0.000***   0.000***    0.000***   0.000***   
---------+-------------------------------------------------------------------- 
       N |   8036       8035        8036       8035        8036       8035      
     bic | 7557.1     7479.6      7450.6     7594.2      7622.1     7405.3      
------------------------------------------------------------------------------ 
                                            legend:  p<.1; ** p<.05; *** p<.01 

Is data driven analysis worthless?

o

o
o

o
o

Model Robustness

Introduction

o
o
o

o
o

o
o

Method

o
o
o

o
o

o

o

Point Estimates as model assumption sets

o
o

o

o



Science Isn’t Broken

o

o

o

Part 21: Review of Workflow
The guiding philosophy

Workflowmust address

Is a reproducible WF too hard? Criteria for choosing your WF

Ask yourself repeatedly 



Never forget POD Critical computingWF
Posting principle
o

Dual workflow
o

Run order naming
o

If you disagree Finally...

o

o

o
o

o
o
o

Bill Gould on asking for help

1. Subject line 

2. First sentence 

o
o



3. Second sentence 
o

4. The second (3rd, 4th,...) paragraph 

o
 

        firm_id     date      x 
          10043       17     12 
          10043       18      5 
          13944       17     10 
          27394       16      1 

o
        date    no_of_firms   avg_x 
          16              1       1 
          17              2      11 
          18              1      12  

o

o

5. You're asking someone to invest their time, so invest yours 

6. Tone 

7. What's appropriate 

8. Who can ask, and how 


